UGC NET 2021 Law

Topic:- 58LAW_A
1) According to Pound, law is:

(1) The statement of circumstances in which the public force will be brought to bear upon men through courts
‘ (2) A social institution to satisfy social wants

(3) Aggregate of rules set by men as politically superior or sovereign, to men as politically subject

(4) A crystallized common sense of communities
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[Question ID = 4012][Question Description = Q01_Law_SHAAN_NOV21]
1.1

[Option ID = 15511]
‘ 2.2

A
[Option ID = 15512]
3.3

[Option ID = 15513]
4. 4

[Option ID = 15514]
2) Which of the following is not correct in relation to rights in its various forms and its correlatives?

(1) Right (Strict sense)-Duty  (2) Liberty-No right
‘ (3) Power-Liberty (4) Immunity - Disability
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[Question ID = 4013][Question Description = Q02_Law_SHAAN_NOV21]
1.1

[Option ID = 15515]
2.2

[Option ID = 15516]
3.3

[Option ID = 15517]
4. 4

[Option ID = 15518]
3) The main purpose of corporation sole is:-

(1) To protect the property of the Government
(2) To make the property easily transferable
(3) To make the property easily inheritable

| (4) To make continuity of an office
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[Question ID = 4014][Question Description = Q03_Law_SHAAN_NOV21]
1. 1 [Option ID = 15519]
2. 2 [Option ID = 15520]
3. 3 [Option ID = 15521]
4. 4 [Option ID = 15522]

4) “Every man has a property in his own person, he has right to preserve his property, that is, his life, liberty and estate”
------------ is said by:

(1) Bentham (2) Henry Main
‘(3) Locke (4) Laski
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[Question ID = 4015][Question Description = Q04_Law_SHAAN_NOV21]
1.1

[Option ID = 15523]
2.2

[Option ID = 15524]
3.3

‘ [Option ID = 15525]
4. 4

[Option ID = 15526]
5) Under the special powers of Rajya Sabha which of the following resolutions can originate only in Rajya Sabha.

(A) Resolution seeking removal of Vice President

(B) Any resolution seeking creation of one or more all India service
(C) Any resolution seeking legislation on state subject

(D) Introduction of money bills

Choose the correct answer from the options given below:

1) (A) and (B) only
(2) (A) and (C) only
3) (D) and (B) only
(4)  (A), (B), (C) only
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[Question ID = 4016][Question Description = Q05_Law_SHAAN_NOV21]
1.1

[Option ID = 15527]
2.2

[Option ID = 15528]
3.3

[Option:D.=,15529]
4. 4

[Option ID = 15530]

6) Vice President of India on expiry of his term:-

1) Vacates his office

(2) Gets a mandatory extension of 2 months

3) Continues to hold office until successor enters upon office

(4) Elects his successor before relinquishing office
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[Question ID = 4017][Question Description = Q06_Law_SHAAN_NOV21]
1.1

[Option ID = 15531]
2.2

[Option ID = 15532]

‘3.3
A

[Option ID = 15533]
4. 4

[Option ID = 15534]
7) State Emergency or President Rule under Article 356 can be imposed in a State by the President for a maximum period
of:-
‘ (1) 3 years (2) 2 years extendable by 1 year
3) 6 months (4) 1 year
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[Question ID = 4018][Question Description = Q07_Law_SHAAN_NOV21]
1.1



[Option ID = 15535]
2.2

[Option ID = 15536]
3.3

[Option ID = 15537]
4. 4

[Option ID = 15538]

8) Besides providing for a functional government and consequential growth in the administrative process, the Constitution
has provided elaborate control mechanism so that water may not over-run beyond banks. This has been ensured in which of
the following articles of the Constitution?

1) Art 32,226,227 (2) Art 14,21, and 41

(3)  Art 15,16 and 17 (4)  Art 246, 247, 248
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[Question ID = 4019][Question Description = Q08_Law_SHAAN_NOV21]
1. 1

[Option ID = 15539]
2.2

[Option ID = 15540]
3.3

[Option ID = 15541]
4. 4

[Option ID = 15542]
9) Which of the following groups of Jurists who consider the law as a command of sovereign enforced by a superior political
authority and accordingly subscribe to the view that International Law is not law as ‘properly so called’?
1) Starke, Salmond, Holland (2) Hart, Starke, Oppenheim
3) Holland, Oppenheim, Hart (4) Hobbes, Pufendorf, Austin
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[Question ID = 4020][Question Description = Q09_Law_SHAAN_NOV21]
1.1

[Option ID = 15543]
2.2

[Option ID = 15544]
3.3

[Option ID = 15545]
4. 4

[Option ID = 15546]
10) Which one of the following Geneva conventions has the provisions on, “The protection of the victims of maritime
warfare”?
(1) The Second Geneva Convention, 1949
(2) The Third Geneva Convention, 1949
3) The Fourth Geneva Convention, 1949

(4) The First Geneva Convention, 1949
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[Question ID = 4021][Question Description = Q10_Law_SHAAN_NOV21]
1

[Option ID = 15547]

2.2

[Option ID = 15548]

3.3

[Option ID = 15549]

4. 4

[Option ID = 15550]
11) The World Court refused to give its Advisory opinion in which of the following case?

(1). The Genocide Convention case

(2) The legality of the use by a State of Nuclear weapons in Armed conflict
(3) Interpretation of Peace Treaties case

(4) Legality of the Threat or use of Nuclear weapons case
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[Question ID = 4022][Question Description = Q11_Law_SHAAN_NOV21]

1. 1 [Option ID = 15551]
2. 2 [Option ID = 15552]
3. 3 [Option ID = 15553]
4. 4 [Option ID = 15554]

12) Which of the following is not the principal organ of the United Nations?

(1) General Assembly

(2) Economic and Social Council

(3) International Court of Justice

(4) International Human Rights Commission
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[Question ID = 4023][Question Description = Q12_Law_SHAAN_NOV21]

1. 1 [Option ID = 15555]
2. 2 [Option ID = 15556]
3. 3 [Option ID = 15557]
‘ 4. 4 [Option ID = 15558]

13) The distinctive features of ‘Rioting’ are an activity which is accompanised by :-
1) Use of force and violence (2) Causing alarm

3) Violence for a common purpose (4) Use of abusive language
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[Question ID = 4024][Question Description = Q13_Law_SHAAN_NOV21]
1. 1

[Option ID = 15559]
2.2

[Option ID = 15560]
3.3

[Option ID = 15561]
4. 4

[Option ID = 15562]

14) Which among the following is the most serious offence, and thus severely punishable?
(1) Unlawful Assembly (2) Rioting
3) Affray (4) Assault
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[Question ID = 4025][Question Description = Q14_Law_SHAAN_NOV21]
1.1

[Option ID = 15563]
2.2

[Option ID = 15564]
3.3

[Option ID = 15565]
4. 4

[Option ID = 15566]
15) ‘Stalking’ (following a women despite her disinterest, spying, etc) is an offence under:

(1) Section 354 (1)(ii) IPC (2) Section 354 B IPC
(3) Section 354 A (1) (iii) (4) section354 D IPC
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[Question ID = 4026][Question Description = Q15_Law_SHAAN_NOV21]

1.1

[Option ID = 15567]
2.2

[Option ID = 15568]
3.3

[Option ID = 15569]
4. 4

[Option ID = 15570]

16) In which of the following cases the supreme court observed. “There is a thin line between the preparation for and an
attempt to commit an offence”?

(1) State of Maharashtra V Mohd.Yakul (2) Abhayanand Mishra V. State of Bihar

3) Malkiat Singh V. State of Punjab (4) Om Parkesh V. State of Punjab
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[Question ID = 4027][Question Description = Q16_Law_SHAAN_NOV21]
1. 1

[Option ID = 15571]
2.2

[Option ID = 15572]
3.3

[Option ID = 15573]
4. 4

[Option ID = 15574]

17) Motor vehicle Amendment Act of 2019 refer to the earlier Motor vehicle Act of 1988 as:-
(1) Earlier Act (2) Old Act
3) Adapted Act (4) Principal Act
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[Question ID = 4028][Question Description = Q17_Law_SHAAN_NOV21]
1.1

[Option ID = 15575]
2.2

[Option ID = 15576]
3.3

[Option ID = 15577]
4.4

[Option ID = 15578]

18) “The courts have created new torts by the gradual and sometimes almost imperceptible extension of old tort”, who
said the above statement?

‘ (1) Professor Good hart (2) Sir Frederick Pollock
3) Clerk and Lindsell (4) Salmond
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‘ [Question ID = 4029][Question Description = Q18_Law_SHAAN_NOV21]
1. 1

‘ [Option ID = 15579]
2.2

[Option ID = 15580]
3.3

[Option ID = 15581]
4. 4

[Option ID = 15582]
19) Mental condition of a wrong doer at the time of wrong doing is:-
(1) Relevant in all torts

\ (2) Relevant is torts based on fault
(3) Relevant in tort based on strict liability



(4) Not relevant at all
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[Question ID = 4030][Question Description = Q19_Law_SHAAN_NOV21]
1. 1 [Option ID = 15583]
| 2. 2 [Option ID = 15584]
3. 3 [Option ID = 15585]
4. 4 [Option ID = 15586]

20) Section 53 of Consumer Protection Act of 2019 provides for establishment of National Consumer Disputes Redressal
Commission. It is to be known as:-

" (1) National Commission
(2) National Council
(3) National Dispute Redressal Commission
(4) National Dispute Redressal Council
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[Question ID = 4031][Question Description = Q20_Law_SHAAN_NOV21]
1. 1 [Option ID = 15587]
2. 2 [Option ID = 15588]
3. 3 [Option ID = 15589]
4. 4 [Option ID = 15590]

21) In a contract of Guarantee under the Indian Contract Act, 1872 there are:-
1) Two parties and two contracts (2) Three parties and three contracts

3) Three parties and one contract (4) Two parties and one contract
areg wfae stfafay, 1872 % et ) i giaer 0 Feafefea miva 2 .
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[Question ID = 4032][Question Description = Q21_Law_SHAAN_NOV21]
1.1

[Option ID = 15591]
2.2

[Option ID = 15592]
3.3

[Option ID = 15593]
4. 4

[Option ID = 15594]
22) In case of unascertained goods, the property in goods passes:-

(1) When goods are ascertained

(2) When the parties intend the property in goods to pass
(3) As soon as the contract of sale is signed

(4) After the payment of goods is received by the seller
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[Question ID = 4033][Question Description = Q22_Law_SHAAN_NOV21]
1. 1 [Option ID = 15595]
2. 2 [Option ID = 15596]

3. 3 [Option ID = 15597]
4. 4 [Option ID = 15598]

23) Where the money received from a third party by the firm, in ordinary course of business, is misapplied by one of the
partners to his own use, then:-

(1) Defaulting partner alone is liable for the same
(2) Third party has no remedy

‘ (3) Firm is liable for the same
(4) Firm is not liable for the same
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[Question ID = 4034][Question Description = Q23_Law_SHAAN_NOV21]
1. 1 [Option ID = 15599]
2. 2 [Option ID = 15600]
3. 3 [Option ID = 15601]
4. 4 [Option ID = 15602]

24) Who among the following can remove the name of company from Register of Companies on suo moto basis in terms of
Section 248(1) of Companies Act, 2013?

‘ (1) Registrar of Companies
(2) Securities and exchange Board of India
(3) National Company Law Tribunal
(4) Ministry of Corporate Affair
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[Question ID = 4035][Question Description = Q24_Law_SHAAN_NOV21]
‘ 1. 1 [Option ID = 15603]

2. 2 [Option ID = 15604]

3. 3 [Option ID = 15605]

4. 4 [Option ID = 15606]

25) Which one of the following is ‘NOT’ a primary source of Muslim Law?
(1) Sunnat (2) Ijma
- 3) Urf (4) Qiyas
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[Question ID = 4036][Question Description = Q25_Law_SHAAN_NOV21]
1. 1

[Option ID = 15607]
2.2

[Option ID = 15608]
‘ 3.3

" [Option ID = 15609]
4. 4

[Option ID = 15610]
26) Originally under the Hindu Marriage Act, 1955, divorce was based on:-
(1) Consent Theory

(2) Breakdown Theory

‘ (3) Fault Theory
(4) Will Theory
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[Question ID = 4037][Question Description = Q26_Law_SHAAN_NOV21]
1. 1 [Option ID = 15611]
2. 2 [Option ID = 15612]
‘ 3. 3 [Option ID = 15613]
4. 4 [Option ID = 15614]

27) Which of the following judgment does not deal with the need of enactment of ‘Uniform Civil Code’ in India?
(1) Mohd. Ahmad Khan V.Shah Bano Begum
‘ (2) Ashok Hurra V. Rupa

(3) Sarla Mudgal V. Union of India
(4) John Vallamatton V. Union of India
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[Question ID = 4038][Question Description = Q27_Law_SHAAN_NOV21]
1.1

[Option ID = 15615]
2.2



| [Option ID = 15616]
3.3

[Option ID = 15617]
4. 4

[Option ID = 15618]
28) Which of the following judgment do not deal with the matter of Live-in relationship?

(1) Indra Sarma V. K.V. Sarma
‘ (2) Sharda V. Dharmpal
(3) S. Khushboo V. Kanniammal
(4) Chanmuniya V. Chanmuniya Kumar Singh
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[Question ID = 4039][Question Description = Q28_Law_SHAAN_NOV21]
1. 1 [Option ID = 15619]
' 2. 2 [Option ID = 15620]
3. 3 [Option ID = 15621]
4. 4 [Option ID = 15622]

29) The Supreme Court of India recognised the significance of Inter-generational equity and held a government
department’s approval to establish forest based Industry to be invalid in one of the following case:-

(1) State of Himachal Pradesh V. Ganesh Wood products
(2) Vellore citizen’s forum V. Union of India

(3) Dr. B.L. Wadehra V Union of India

(4) M.C, Metha V Union of India
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[Question ID = 4040][Question Description = Q29_Law_SHAAN_NOV21]
‘ 1. 1 [Option ID = 15623]

2. 2 [Option ID = 15624]

3. 3 [Option ID = 15625]

4. 4 [Option ID = 15626]

30) The preamble to both Environment (Protection) Act and Air (Prevention and Control of Pollution) Act were passed to
implement the decision reached in one of the following:-

(1) San Francisco Conference, 1945

(2) United Nations Conference on Environment and Development, 1992
(3) United Nations Conference on the Human Environment, 1972

(4) United Nations Conference on Environment, 1982
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[Question ID = 4041][Question Description = Q30_Law_SHAAN_NOV21]
1. 1 [Option ID = 15627]
2. 2 [Option ID = 15628]
3. 3 [Option ID = 15629]
4. 4 [Option ID = 15630]

31) The Government of India’s policy on abatement of pollution adopted certain guiding principles in the year 1992. Which
of the following is not covered under the said guiding principles?

(1) Prevention of pollution at source

(2) Adoption of best available technology
(3) Involvement of NGO’s for all purposes
(4) Public participation in decision making
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[Question ID = 4042][Question Description = Q31_Law_SHAAN_NOV21]
1. 1 [Option ID = 15631]
2. 2 [Option ID = 15632]
3. 3 [Option ID = 15633]
4. 4 [Option ID = 15634]

32) Which one of the following is not the functions of Human Rights Council?

(1) To promote Human Rights education and learning as well as advisory services

(2) To decide issues without making any reco-tions to the General Assembly

(3) To work in close cooperation with the Government regional organisation, National Human rights institutions and civil
society

(4) To serve as forum for dialogue on thematic issues on all Human rights
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[Question ID = 4043][Question Description = Q32_Law_SHAAN_NOV21]

1. 1 [Option ID = 15635]

2. 2 [Option ID = 15636]

3. 3 [Option ID = 15637]

4. 4 [Option ID = 15638]

33) ‘Digital signature’ is defined under which section of information technology Act, 2000?
() Section 2 (p)

(2) Section 2 (q)

3) Section 2 (r)

(4) Section 2 (tb)
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‘ [Question ID = 4044][Question Description = Q33_Law_SHAAN_NOV21]
1.1

[Option ID = 15639]
2.2

[Option ID = 15640]
3.3

[Option ID = 15641]
4. 4

[Option ID = 15642]

34) ‘Cyber security’ is defined under which section of information technology Act, 2000?
(1) Section 2 (ua)
(2) Section 2 (za)
3) Section 2 (nb)
(4) Section 2 (tb)
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(2) HH 2 (za)
‘ (3) 91 2 (nb)

(4) 9N 2 (tb)

[Question ID = 4045][Question Description = Q34_Law_SHAAN_NOV21]
1.1

[Option ID = 15643]
2.2

[Option-ID.= 15644]
3.3

[Option ID = 15645]
4. 4

[Option ID = 15646]
35) The term private key refers to:-

(1) Authentication of any electronic record by a subscriber
(2) Electronic signature certificate issued under section 35
(3) Key pair in an asymmetric crypto system

(4) Key of key pair used to create a digital signature

‘sfFTE F AT AR

(1) foh e g e s o stfamme

(2)  ©WI 35 3319 ] selaaii-en sLaien o1 yu -9
(3)  HEmiHd e el H F-g

(4) M FENE A9 F for wgEd Ffi-gm i



[Question ID = 4046][Question Description = Q35_Law_SHAAN_NOV21]
1. 1 [Option ID = 15647]
2. 2 [Option ID = 15648]
3. 3 [Option ID = 15649]
‘ 4. 4 [Option ID = 15650]

36) The validity of contracts formed through electronic means is contained under which section of information technology
Act, 20007

(1) Section 3A (2) Section 6A
3) Section 7A (4) Section 10A

oAk AT g1 31 7 wfen, gean wenfeh sifafm, 2000 A fEm amdaiia 2 .-

(1) oM 3A (2) 9HIBA

® @ mo

[Question ID = 4047][Question Description = Q36_Law_SHAAN_NOV21]
1.1

[Option ID = 15651]
2.2

[Option ID = 15652]
3.3

[Option ID = 15653]
‘ 4. 4

[Option ID = 15654]

37) The right to information Act, 2005 explains the meaning of information under:-
(1) Section 2 (e) (2) Section 2 (f)
3) Section 2 (g) (4) Section 2 (h)

e o1 SR st 200s, gE e gfanfiE s R -

1y HH2(e) @ =u2@

(3) H=HW2(g 4 42

[Question ID = 4048][Question Description = Q37_Law_SHAAN_NOV21]
1. 1

[Option ID = 15655]
‘ 2. 2

[Option ID = 15656]
3.3

[Option ID = 15657]
4. 4

[Option ID = 15658]

38) The Lokpal and Lokayukta Act 2013 came in to force in:-

(1) March 2013 (2) February 2013

3) January 2013 (4) August 2013 3
AleRTe ST ST Aal, 2013 WA g2 qw;e;:o??u
(1) wr20134 @  wEf 20137
(3) SHali20131 (4 20139

[Question ID = 4049][Question Description = Q38_Law_SHAAN_NOV21]
1.1

[Option ID = 15659]
2.2



[Option ID = 15660]
3.3

[Option ID = 15661]
4. 4

[Option ID = 15662]

39) Which one of the following is related to Amendment of the U.S. constitution?
(1) Article llI (2) Article IV
(3) Article V (4) Article VI

Freqferfian srq=ai 1 & o1 A1 =g iR & 9feaE & deisd & grafame 27

(1)  =g=33 I (@ =RV
(3) HI=WIV (4 =R VI

[Question ID = 4050][Question Description = Q39_Law_SHAAN_NOV21]
1.1

[Option ID = 15663]
2.2

[Option ID = 15664]
3.3

[Option ID = 15665]
4.4

[Option ID = 15666]

40) Section 8(1) of the RTI Act provides how many exemptions from the disclosure of information?
M 7 (2) 8
3) 9 (4) 10

TR 8(1) FEA1 1 ATTFR AT G F TFHI O H TR THEE G2 H TEEH FA 2T

@y T 2 8
(3) 9 (4) 10

[Question ID = 4051][Question Description = Q40_Law_SHAAN_NOV21]
1.1

[Option ID = 15667]
2.2

[Option ID = 15668]
3.3

[Option ID = 15669]
4. 4

[Option ID = 15670]

41) According to prof. Lon L Fullar:-
(A) Law is the enterprise of subjecting human conduct to the governance of rules
(B) The morality of law has two aspects, external and internal

©) External morality is the morality of aspiration, ideas from which it is possible to derive a procedural version of
natural law

(D) Internal morality of law is a ‘substantive version of natural law’

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (B),(C) and (D) only

3) (A), (C) and (D) only

(4) (A),(B) and (C) only



1. S U Feer o HEH ;

(&) fafes o = sraer 1 fam = sea & sidia o FIEm R

B)  fafirss A & < vee 214 £ - e sin stmaf

(C)  ‘wTey Afaswa 34 smenst], sawi i Afawa ¢ fE grerfae fafa = afwaers =0 aifre #5993
A1 2

(D)  fafa ) “swafre Ao’ wrafaes fafa” #1 g w0 2)

1= fou o fasrea d 3w 39 = = fifso

) FEA Q) 3 (B)
(2) %4 (B). (O) 31 (D)
(3)  FadA (A), (C) 31 (D)
(4)  Fa (A). (B) 3 (C)

‘ [Question ID = 4052][Question Description = Q41_Law_SHAAN_NOV21]
1. 1

| [Option ID = 15671]
2.2

[Option ID = 15672]
3.3

[Option ID = 15673]
4. 4
[Option ID = 15674]
42) In which of the following cases the duties are not specifically enforced in respect of the act done?
(A) The liability of a borrower to repay a debt barred by statute of limitation
(B) The liability of a borrower to repay the money borrowed by him
(C) To refrain the wrong doer from publication when a libel has already been published

(D) To refrain the wrong doer to continue the commission of a nuisance

Choose the correct answer from the options given below:
(1) (A) and (B) only
' (2)  (A)and (C) only
3) (B) and (C) only
(4) (B) and (D) only

Teeferfiad # 4 form wrmet] 8 sl =61 oo o e = e 1 fafare w9 3 e =& o s 27
(A  afed afafa g afsfa o w1 gadram w0 £ sural 6 faad

(B T 3ursl 1 36 g 3R oo e oq i HTaE w5 6 E

(C)  Toreii Famarasr o @i o 99=Td TTeTd 14 o Tl il Tehrer- 4 591 T

(D) ot rera s o ATl safaa 6 Seava S TEE e e

e v o fasredi | 4 w8l 37 1 =ga Fif

(1)  dd (A) 3R (B)



(2) A (A) 31 (C)
(3)  F&d (B) 31 (C)
(49  Fa (B) 3 (D)

[Question ID = 4053][Question Description = Q42_Law_SHAAN_NOV21]
1.1

[Option ID = 15675]
2.2

[Option ID = 15676]
3.3

[Option ID = 15677]
4. 4

[Option ID = 15678]
43) Which of the following statements are correct?

(A) Global justice inquires about what justice among human beings consists in.
(B) Global justice inquiries take individual human beings as of primary concern and seek to give an account of what fairness
among such agents involves.

(C) In the domain of global justice, theorists seek primarily to define justice between states or nations.

(D) In international justice the nation or state is taken as the central entity of concern and justice among nations or states is
the focus.

Choose the correct answer from the options given below:
(1) (A),(B) and (C) only
‘ (2) (A),(B) and (D) only
(3) (A),(C) and (D) only
(4) (B), (C) and (D) only
fferfiga 14 a9 -4 Foa g 87
(A)  afvas =ra g8 ve il 4 F 2 b we o ot R e o - saas g 0 2|
(B)  Afvas = & &3 whe § wafae faea & w9 1 safaq # v e @ s ga 28 ah WS a2
o o webme &1 38 =1mg 9T 21
(C)  dfFash = = &3 = siatd, RagTasn wefis w9 @ 1 = = =g = afeafie e 87
(D) AW = O e &) et faen o farm o s g forn s 2 qun e o | e woae T
1A 2

= feu e faeedi 0 4 18l 39w =9e i

(1) A (A). (B) 31 (0)
(2 Fad (A), (B) 37 (D)
(3) A (A), (O) =1L (D)
(4)  ¥ad (B). (C) 30 (D)

[Question ID = 4054][Question Description = Q43_Law_SHAAN_NOV21]
1.1

[Option ID = 15679]

2. 2
[Option ID = 15680]

3.3

[Option ID = 15681]
4. 4

[Option ID = 15682]



44) Which of the following statements are correct?

(A) The Preamble contains in nutshell ideals and aspirations of the Constitution

(B) The Preamble is the key to open the minds of the Constitution makers

(C) The Preamble to the Constitution of India is solemnly resolved to secure to its citizens justice and equity
(D) The Preamble is not the part of the Constitution

Choose the correct answer from the options given below:
1) (A) and (B) only
(2) (C) and (D) only
3) (A) and (C) only
(4) (A) and (B) only

frefarfiaa 4 | w97 &1 =724 1 .-

(A)  IEfEreR GfauE & e SN nEcaEa s FHN 2 |

(B)  Ffrw afum fafas & amavea 1 e = 2

(C)  Wa & Hfaam =6l Sz 3193 il F1 =79 371 4 ety FH o oo gaase 21
(D)  FEfavem wfaaE & w98 2

1 v o faepedi 0 | | 3 %1 =3 Fif

(1) %4 (A) i (B)

(2)  @ad (C) 3k (D)

(3) A (A) 37 (0)

(4)  Fa (A) R (B)

[Question ID = 4055][Question Description = Q44_Law_SHAAN_NOV21]
1. 1

[Option ID = 15683]
2.2

[Option ID = 15684]
3.3

[Option ID = 15685]
4. 4

[Option ID = 15686]
45) Which of the following statements are true under the Constitution of India?

(A) Article 61 deals with procedure for impeachment of the President
(B) Art 142 provides that law declared by the supreme court shall be biding on all courts
(C) Article 122 provides that courts shall not inquire into proceedings of Parliament
(D) Art 163 deals with the extent of executive power of State
Choose the correct answer from the options given below:
(1) (A),(B) and (C) only
(2) (B) and (C) only
¢ 3) (A)and (C) only
(4) (A),(C) and (D) only

WA % GfauHE % Siad 92 9 #1994 H



(A) =R 61 Tre2afd W gEiaam e i gl | Haiad 2)
(B)  F=wE 142 Feaan = g A i w5 ad =mresi v srese fh E Hataa 2
(C)  s=a 122 e 517 H6e | FrEanfi i s 3 forn 5= & Haifera 21

(D)  FHwIE 163 T 6l FEmicrs wia ) Him § wafaa 21

1= feu o e | 4 Al 3o = = it

(1) & (A), (B) 31 (0)
(2) el (B) 31 (C)
(3)  Fad (4) 3 (C)
(4) %4 (A), (C) 3 (D)

[Question ID = 4056][Question Description = Q45_Law_SHAAN_NOV21]
1.1

[Option ID = 15687]
2.2

[Option ID = 15688]
‘ 3.3

[Option ID = 15689]
4.4

[Option ID = 15690]
46) Which of the following statement/statements is/are correct?

(A) When a State is defeated or conquered, all the citizens acquire the Nationality of the conquering State. This is called
‘cession’ mode of gain of nationality.

(B) When a person gets Nationality of a State in place of the Nationality of another State. This is called ‘substitution’ mode
of loss of nationality.

(C) The Public Trustee case is related to statelessness.

(D) The General Assembly decided to convene a conference to conclude, a convention on reduction of statelessness in
1961.

Choose the most appropriate answer from the options given below:

1) (B) and (C) only

(2) (A), (B), (C) only

(3) (A), (), (D) only

4) (A), (B), (C), (D) only

Frerferfiaa o 4 = a7 4 Fom g 27
(A) o i 29 gafad g e @ g s w forn e 2 A 3w ad i o s 2w A
ARTiCaRa WA B Sl 2| $H I ued s & SAfedeae Al ey’ FEl o 2|

(B) o4 FIE syl vk w2 o T 3 v O 3= e ) Tan ued e 2 d1 g el 2
fereeniid caey’ el A2l

(C)  ‘ufecteh 2 Wraen wreEiAAl © Haferd 2
(D)  Heradl | wedEa § w5 Jad) AfaEgE & wurd 29 1961 ° s Hgaga snaifad #1 # Ao
e

P NG Ul o B o e e i e T e



BLEAS N Sk b b o B B B B e v i AT B e £ B e bt L e i

(1) =&« (B) 3t (C)
(2)  F4d (A). (B), (C)
(3)  F4 (A), (C). (D)

(4 Fa (A). (B). (C). (D)

[Question ID = 4057][Question Description = Q46_Law_SHAAN_NOV21]
1. 1

[Option ID = 15691]
2. 2

[Option ID = 15692]
3.3

[Option ID = 15693]
4. 4

[Option ID = 15694]
47) Which of the following statement/statements, is/are correct?

(A) De Jure Recognition is final whereas De-facto Recognition is provisional

(B) De-Facto Recognition can be withdrawn but De-Jure Recognition is irrevocable

(C) De-Facto Recognition has retrospective operation as exactly as, in the case of De-Jure recognition

(D) There is no distinction between De-Jure and de Facto recognition for the purpose of giving effects to the internal acts
of the recognised authority

Choose the most appropriate answer from the options given below:
L () (A), (B), (D)only

(2)  (B), (C), (D) only

(3)  (A), (B), (C) only

(4) (A), (B), (C) and (D)

frferfiaa o 4 %1 w1 o v 27

(A)  faftm. wrgar sifom 2 2 safe aea. aren sHfm a2y
(B)  aEqd: B i arfud forn st a2 stain ot g i afys 38 forn s @ 2)
(C)  =rea: ur=ra 3i fafia: ur=ran SHi gaeed udmE § e 2 2

(D)  wFE gl G & wAaf FEl o vaEsiica & 3eva | fafaa. g aega: arEas | FE 5w
T 2l

4 fou o fasedi 0 | HeaH 37gFd 3R 1 994 Fifau

(D F& (A), (B), (D)
(2)  Fad (B). (O). (D)
(3)  Fa (A). (B). (C)
4 Q). ®B).(C) 3 (D)

‘ [Question.ID = 4058][Question Description = Q47_Law_SHAAN_NOV21]
1. 1

[Option ID = 15695]
2. 2

[Option ID = 15696]
3.3

[Option ID = 15697]



4. 4

[Option ID = 15698]
48) Which of the following statement/statements is/are correct?

(A) On 16th June, 1987 the foreign secretaries of South Asian Regional Countries entered into agreement on Extradition
(B) Hongkong Pact on Extradition with India was entered in the middle of June 1980

(C) India and Germany signed an Extradition Treaty on 27 June, 2001

(D) India and France signed an Extradition Treaty on 24 June, 2002

Choose the most appropriate answer from the options given below:

M (A), (B), (D) only

(2) (B), (C), (D) only

(3)  (A), (C)only

(4) (A), (B), (C) and (D)

fafoarfaa O 9 o #5991 9951 =1

(A)  165H, 1987 %1 iern vfsrard & <o o fade afadl 34 geandv g wweid 7 swmnam fH |
(B)  WRd % H1%9 YeAriv Haiefi 2/hE Huaid WS, 1980 % e  axdian gu )
(C)  IWa a1 <H+1 4 27 5[, 2001 %1 Fedriv |64 7 #eaen fFu)

(D) R 41 ER 3 24 5, 2002 %1 TN Hi9 7 gEden )

e fou o fasredi o | Has 379 3T 1 951 Flfa

(1) ¥4 (A), (B), (D)
(2)  F&d (B), (C), (D)
(3)  Fdel (A). (O)

4  (A. ®.(C) 3 (D)

[Question ID = 4059][Question Description = Q48_Law_SHAAN_NOV21]
1.1

[Option ID = 15699]
2.2

[Option ID = 15700]
3.3

[Option ID = 15701]
4. 4

[Option ID = 15702]
49) Which of the following statement/statements is/are correct?

(A) The offence of abetment is defined under section 107 of IPC

(B) The essential ingredient of “the offence of conspiracy is the agreement to commit an offence

(C) The punishment of criminal conspiracy is given under section 120 IPC

(D) State of Tamil Nadu through Superintendent of Police, CBI/SIT V. Nalini is a case related to offence of Abetment
(E) Abetment in India of offences committed outside of India is punishable under section 108A IPC

Choose the correct answer from the options given below:

M (A), (B), (C), (D) and (E)

(2) (B), (D), (E) only

(3) (A), (B), (E) only

(4)  (B), (C) only



frferian shem /Al 4 |d &1 T 6l -

(&) ZORY % TN R gve iz il 9 107 9 afeqiita e w2

B) T svgme 1 i R 1 FIN 920 F 90 F1 S1E9SEF 90 21

(C)  wmelia gue afean < am 120 = sfarfd sioufiss v2a= =1 22 fegrmn 24

D) i sefiere, | s 311 /v 0E & o e 8 qfeTs a9 S Ao 1 T Se0E o R H
et 21

(E)  “Rd o alTe? fohw 10 sqoarel =1 9 6 geR0] R 2 dfed il 9w 108 U 9 v )

el v o fasedi O O 5l 39 1= il

(1) Q). ®).(C). D) 3l (E)
(2) %4 (B). (D). (B)

(3  F99 (A), (B), (B)

(4 %9 (B). (O)

[Question ID = 4060][Question Description = Q49_Law_SHAAN_NOV21]
1.1

[Option ID = 15703]
2.2

[Option ID = 15704]

3.3
[Option ID = 15705]

4. 4

[Option ID = 15706]
50) Which of the following statement/statements are correct?

(A) ‘Theft’ is defined under section 378 IPC, as the dishonest removal of movable property out of the possession of any
person without his consent

(B) In the offence of extortion punishment is upto 3 years under section 384 IPC

(C) The offence of ‘Robbery’ is defined under section 391 IPC

(D) Dacoity is Robbery committed by five or more persons

(E) The punishment for ‘Dacoity’ is prescribed under section 392 IPC

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D) only
(@ (A), (B), (D)only
(3) (D), (E) only
(4)  (A), (B) only

Ta=ferfian shem /shaal 4 | 1 =01 i

(A) 3 i = e 378 % steia 9w R s o wenfa % o sEaEl O 3o wes A =
Hf 6 ST o 9 H i fohe T2

(B)  3ge194 o 0= 4 37E i o i e 384 o 3319 3 9 ek o 2vg 27

(C) ‘o’ % 319 i SETH il A 391 % s uieaiiya e )

(D) ‘e i gEE sifies i g f g ee 2

(B)  ‘=Hd wave A6 0w oam 302 F sdm fafza 2

Jr fow o fesredi 4 @ | 3 1 =aa Fife



(1)  Fa (A). (B). (C). D)
(2)  Fa (A). (B), (D)
(3)  Fd (D). (E)

(49 Fad (A). (B)

[Question ID = 4061][Question Description = Q50_Law_SHAAN_NOV21]
1. 1

[Option ID = 15707]
2.2

| [Option ID = 15708]
3.3

[Option ID = 15709]
4. 4

[Option ID = 15710]
51) Which of the following statement/statements is/are correct?

(A) The offence of ‘sedition’ is defined under section 124A of IPC

(B) The supreme court in Kedar Nath Singh V State of Bihar held that section 124A IPC is not unconstitutional

(C) State (N.C.T. of Delhi) V. Navjot Sandhu Afsan Guru is a case related to sedition

(D) Mohd. Arif V State of NCT of Delhi is also known as Mumbai Terror Attack case

(E) Waging or attempt to wage war or abetting waging of war against the Government of India is an offence under section
121 IPC.

Choose the correct answer from the options given below:
1) (A), (B), (C), (D) only
(2) (B), (C), (D), (E) only
‘ (3)  (A), (B), (E) only
(4) (D), (E) only

faefeafiaa 1 | w2 w94 /FHaA] 1991 #

(&) TeEr % sua F s A oam 124 vF sefia afonfiE w2y

(B)  F=ddd ATerd 4 %Er A9 e s faer o umel O e R s 9 E ) u 124 v s
T 2

(C) 7= (v H1.A. A7 feefl) S8 Fasid 69 M T TSEE H e 9a gier 2
(D)  uEwE STHE 99m wA i & feeeft 1= o gud sasard] sgen’ amen o #w S 8 |

(B) WA Grn < 358 Zg @21 91 924 %1 WM F01 71 48 F1 g9 956 f @ 9w 121 % 5[
I 2

e fou o ferea A | 9l 3w %1 =49 fifau

(1) %39 A). (B). (C). (D)
(2)  %d9 (B). (O). D). (E)
() =4 A), B), (E)

(4 Fd (D) 3 (E)

[Question ID = 4062][Question Description = Q51_Law_SHAAN_NOV21]
1.1

[Option ID = 15711]
2.2

[Option ID = 15712]



3.3

[Option ID = 15713]
4. 4

[Option ID = 15714]
52) In determining relevant geographic market, competition commission shall keep in mind which of the following factors?

(A) Regulatory trade barriers and natural procurement policies

(B) Language and local specification requirement

(C) Consumer preference and regular supply and after sale service
(D) Transport and distribution factors

Choose the correct answer from the options given below:

M (A), (B), (C) only

(2) (A), (B), (D) only

3) (D), (C), (B) only

(4) (A), (B), (C) and (D)

Hre dfifersr ser Mo 8, sfaeri sy Fefafaa 549 5w w1 eaE v -
(a)  fafmrs s srEns vd o afie Hifa

(B) w1 vd g fafafdee sravasan

(C)  Zadra SAaaa S Had s aen frefl oo aJa

(D) i aun e g

1 fou o faweai d @ ad 33 #1974 Fifeu .

(1) %4 (A). (B), (O)
(2)  #ad (A). (B). D)
(3) 4 (D). (C). (B)
4 (A). ®). (C) 31 (D)

[Question ID = 4063][Question Description = Q52_Law_SHAAN_NOV21]
1. 1

[Option ID = 15715]
2.2

[Option ID = 15716]
3.3

[Option ID = 15717]
4. 4

[Option ID = 15718]
53) Consumer, Mediation Cell has to hold which of the following documents?

(A) List of empanelled mediators

(B) List of all cases handled by the cell

(C) Records of all proceedings

(D) Information specified by regulations

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (B) and (D) only

3) (C) and (D) only



(49 (A), (B), (C)and (D)

I e Uahs frefafiaa 8 8 9 | gaEs &5 ane gy

(A)  THeTg me o i |
(B) I3 g R e wroe = g
(C) =i swrdanfedi =1 sifigera

(D) fafms g fafafde s

Hr fau o faeredi O B wdl 3 1 = Fifee

(1)  Fad (A) 31 (B)
(2)  F4d (B) 31 (D)
(3)  Fad (C) 3 (D)

4  (A). (@), (0 W (D)

[Question ID = 4064][Question Description = Q53_Law_SHAAN_NOV21]
1. 1

[Option ID = 15719]
2.2

[Option ID = 15720]
3.3

[Option ID = 15721]
4. 4

[Option ID = 15722]
54) Removal of members of Company Law Appellate Tribunal can be carried out in consultation by:-
(A) Central Government

(B) Chief Justice

(C) Chairperson of Appellate tribunal

(D) Auditor General

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (A), (B), (C) only
3) (C) and (B) only
(4) (A), (B), (C) and (D)

ol fafa sydfefra—arafasm % gee 1 Fe % syl 9 22m S awa 2)
(A)  F3UER

(B) e =

(©)  spfieia =l  sege

(D)  HererEn T

4 oo o foarmeai 4 9 w8 3w o =1 Fifs
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(2)

(3)

(4)

R IR AR )
Fad (A), (B), (C)
Fae (C) 3 (B)

(A). (B). (O) #i¥ (D)

[Question. ID = 4065][Question Description = Q54_Law_SHAAN_NOV21]

‘1.1

\ [Option ID = 15723]

2.2

[Option ID = 15724]

3.3

[Option ID = 15725]

4. 4

[Option ID = 15726]

55) Endorsement of Negotiable instrument followed by delivery

(A) Transfers the property in instrument to endorsee

(B) Transfers the right of further negotiation to the endorsee

(C) May exclude or restrict the right of further negotiation by endorsee
(D) May merely constitute the endorsee as an agent

Choose the correct answer from the options given below:

(1)
2)
(3)

(@)

(A) and (B) only
(C) and (D) only
(A), (B), (C) only
(A), (B), (C) and (D)
ey ferfiad W T3 o 39 gya ;
Q)  Toma 1wy gsaifrd w1 aarata 21 2)
B)  wifHdl 1 37 s F s sfren safe wmrdtE a2 )
(C)  Ieaifehell ST STRI o THGRTHY] o ST 1 HOTA 21 Il % Jahe 21
(D) TSIl 1 ye2iea FA 7 Faa Al a9 wFa 2, 9T UF Use F B9 H 5HE 2
et fou o fasrea | & A&l 39 o1 =9 il
(1) 9 (A) 3 (B)
(2)  %dd (C) 3 (D)
(3)  F9d (A). (B). (O)
4 (A ®B).(©) 3 D)

[Question ID = 4066][Question Description = Q55_Law_SHAAN_NOV21]

1.1

[Option ID = 15727]

2.2

[Option ID = 15728]

3.3

[Option ID = 15729]

4. 4



[Option ID = 15730]
56) Under Muslim Law, divorce by common consent is known as:-

(A) Talag-e-Tafwid

(B) Khula

(C) Lian

(D) Mubarat

Choose the correct answer from the options given below:

(1) (A), (B) and (D) only
‘ (2) (B) and (D) only

(3) (C) and (D) only

(4) (A) and (B) only

ufecn fafiy & siarla st waufa % g/ delr 1 e S 2 -

(A)  delish-Uu—dilFe

(B) el
() foam
(D) HIUd
e e o fasreai 0 9§ w2 39 % =ae i

(1) %44 (A), (B), 3% (D)
(2)  ¥aa (B) ¥l (D)
(3) @A (C) i1 (D)

(4)  @ad (A) 31 (B)

[Question ID = 4067][Question Description = Q56_Law_SHAAN_NOV21]
1. 1 [Option ID = 15731]
‘ 2. 2 [Option ID = 15732]
3. 3 [Option ID = 15733]
4. 4 [Option ID = 15734]

57) Which of the following are fault grounds of divorce under the Hindu Marriage Act, 1955?

(A) Desertion

(B) Cruelty

(C) Consent obtained by force or fraud

(D) Conversion to non Hindu religion

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B), (C) and (D) only

(3) (A) and (C) only
" (4) (A), (B) and (D) only

feeg faare sifafiam 1955 % sionfa frefafad 4 4 = 4 far -fa=de # 5m smar (v aEe) € -
(A  sfasrse

B)  F

(C)  elTdeh 31 HI20| H1 H U Hadfd

D) -fewg e



= o o fasredl | 4 gad 39gFd 39 1 =999 Fifw

(1)  Fad (A) 31 (B)
(2)  Fad (B). (O) 3 (D)
(3) e (A) 3R (C)
4 FE (A), (B) 3 (D)

[Question ID = 4068][Question Description = Q57_Law_SHAAN_NOV21]
1. 1 [Option ID = 15735]
2. 2 [Option ID = 15736]
3. 3 [Option ID = 15737]
4. 4 [Option ID = 15738]

58) Under the provisions of the Hindu succession Act, 1956
(A) Son of a predeceased daughter is class | heir
(B) Widow of a predeceased son of a pre-deceased son is class Il heir
(C) Mother’s mother is class | heir
(D) Mother’s father is class Il heir
Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only
\ (2) (A) and (D) only

(3) (B) and (D) only
(4) (B), (C) and (D) only

femz Fawrfusm sifafam, 1956 % Swae = s

(A) YA YE F g -0 H IR 2

(B)  TEYd A % qHad 73 i faean avi-ai i semfasw )
(C) T il T &l - ek =l SeeifereR 2

(D) e &1 e &l -2 e FefEd 2)

it feu o foredd| 6 & Herd 3w 370 1 =1 ife

(1) % (A) (B) =l (C)
(2) %l (A) (D)
(3)  Fad (B) 3 (D)
(4 FFd (B). (C) 3 (D)

[Question ID = 4069][Question Description = Q58_Law_SHAAN_NOV21]
1. 1

[Option ID = 15739]

2.2
[Option ID = 15740]

3.3

[Option ID = 15741]
4. 4

[Option ID = 15742]



59) The National Commission for Women shall perform some of the following functions:

(A) Shall fund litigations involving issues affecting a large body of women

(B) Shall provide, financial assistance to all those who are self employed

(C) Shall call for specific studies or investigation in to specific problems

(D) Shall impose punishment to those found involved in discrimination of women

(E) Shall investigate and examine all matters relating to the safeguards provided for women under the Constitution and
other laws

Choose the correct answer from the options given below:
(1) (A), (O), (E) only
(2)  (B), (D), (E) only
(3)  (A), (B),(D) only
(4)  (E), (A), (B) only

e ufeen st sfdaa fefatiaa s s e wom:

&) =i HE o giiaa ufeensdi F gEl % qae 1 o )

(B)  T-TrIic i faeta derdn 3uerss |

(C) oy we=nadi o fafere syeram sy s= < 9 a0

(D)  ufgelisdl & Yeurd &4 U fored ume mu safeha =1 efogq om)

(E)  §fau™ a9 573 FHA| o SFiid Higen 31 &1 95 JIe0 & J99 1 [l e &l = 9 3w
4|

= Fau wru et 0 & w3 o =0 e

(1) % (A), (O), (E)
(2) & (B). (D). (E)
(3)  FAd (A). (B). (D)
(4 #ad (B). (A). B)

[Question ID = 4070][Question Description = Q59_Law_SHAAN_NOV21]
1. 1

[Option ID = 15743]
2.2

[Option ID = 15744]
3.3

[Option ID = 15745]
4. 4

[Option ID = 15746]
60) Examine the relevancy of class action suit and choose the correct answer:-

(A) A class action would measurably assist in securing redress in Environmental cases

(B) Monetary recoveries from the tort feasors in environmental cases can only be obtained through a suit
(C) The writ procedure appears more suited than the class action procedure

(D) The most obvious use of class action is in the mass disasters of the sort that occurred in Bhopal

Choose the most appropriate answer from the options given below:

(1) (A), (B), (D) only
(2) (A), (C), (D) only
(3) (B), (C), (D) only
(4) (A), (B), (C) only

“HyE-aTa o HEA A F S 39



(A)  TgE-arg wEiariRE quel & duienE § qimnTd g @ |

(B)  vAfeRvirE o o sl | o age U aTe o wrerd | & w5 Jhdl 2
(C)  ‘wgE-arg F1 suen e ufan’ sifes adwmma wdia 2 21

(D)  ‘wyz-arg’ o Haifes gorse 37ART iaTe e S ST g d g HeE 2 |

=t T o fasred 1 4 Terd 3 3o = =5 il

(1)  F&d (A), B). (D)

(2) e (A), (C). D)

(3 %A (B), (C). D)

(4)  FFd (A), B), (C)

[Question ID = 4071][Question Description = Q60_Law_SHAAN_NOV21]
1. 1

A
[Option ID = 15747]
2.2

[Option ID = 15748]
3.3

[Option ID = 15749]
4. 4
[Option ID = 15750]

61) The geographical indications are distinctive signs or indications which identify any goods as:

(A) Act of unfair competition under Paris convention, 1967
(B) Originating in a specified territory

(C) Stipulate the misleading test guaranteeing a negative right
(D) Specific quality, reputation and characteristics

(E) Essentially attributable to origin

Choose the correct answer from the options given below:

(1) (4), (B), (C) only
(2) (C), (D), (E) only
(3) (A), (D), (B) only

" (4) (B), (D), (E) only

(A) Ui\ sfaEaa, 1967 % sAatd sfEa gieif 1 Fr

(B)  us: fafure & H s g

(C)  wmreds sAfurekr 1 gffoa e o fo grae wfam w1 gl
(D)  Tafere qor, wrfa s aem

(E)  Touiern ge =1 wmfifa

Hr f3u o fasredi 0 | 1l 3 %1 =g i

(1) Fad (A), B). (C)

(2) %4 (C), (D), (E)



(3)  FAd (A), D). (B)

(49) ¥ (B), (D). (B)

[Question ID = 4072][Question Description = Q61_Law_SHAAN_NOV21]
1.1

[Option ID = 15751]
2.2

[Option ID = 15752]
3.3

[Option ID = 15753]
4. 4

[Option ID = 15754]
62) Nothing in TRIPS agreement, 1995 shall derogate from the existing obligations prescribed under:
(A) Paris Convention, 1967
(B) Rome Convention, 1961
(C) Berne Convention, 1971
(D) Biodiversity Convention, 1992
(E) Integrated Circuit Treaty, 1989

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D) only
(2) (B), (C), (D), (E) only
(3) (A), (B), (C), (E) only
(4) (E), (D), (C), (A) only

TRIPS Wiz, 1995 % HE- i UaaE a9 21 1 sfages T6 i1, s aia & -

(A) U sfaEnE, 1967 9

(B)  Tm sfudma, 1961 1

(€)= sfywma, 19714

(D) o fafaan i, 19029
(E) Ui ufereg |, 19807

41 fau o faereai 4 1 58 3 & =99 i

(1)  #= A). (B), (C). D)
(2)  FFd (B). (C), (D). (E)
(3)  Fad (A). (B). (0). (E)

(4)  Fad (E). (D). (C). (A)

[Question ID = 4073][Question Description = Q62_Law_SHAAN_NOV21]
1.1

[Option ID = 15755]
2.2

[Option ID = 15756]
3.3

[Option ID = 15757]
4. 4

[Option ID = 15758]

63) ‘Computer network’ means the inter connection of one or more computers of computer systems or communication



devices through:-

(A) The use of satellite, microwave, terrestrial line, wire, wireless or other communication media

(B) A device or collection of devices including input and output support devices

(C) Any electronic, magnetic, optical and other high speed data processing device

(D) All input, out, processing, storage, computer software or communication facilities

(E) Terminal or a complex consisting of two or more interconnected computers or communication device

Choose the correct answer from the options given below:

(1) (B) and (C) only
(2) (D) and (C) only
(3) (E) and (B) only
 (4) (A) and (E) only

FEYE 42 F1 AT 2 U T A Frge 9] F0g2 e 91 HEE 4 1 g st -

(A) TR, HIEHEA, GW, AW, sfdR HUE] 37 @R QTEE] 1 94w

(B) U I3 YA 991 %1 AYE formeh sid 3792 S 3y Hers d99 ufaferd 21
(C) =0 Selagla, Jrahra, wFmEif oif 1= i afa | 721 y=eniad FH are 999
(D) |l AT, AR, THIEA, A, F AFTH AGE] AN giaan

(BE)  2fifae syeran srrocetan S 2l s19an i seqed o1 Ser 50a 3 stedate @ )

H1 fou o faspeai O 4 9 3 % =99 Fifs

(1) =& (B) 3R (C)
(2)  %aa (D) 3 (C)
(3) a1 (E) 3N (B)
4 (A) S (E)

[Question ID = 4074][Question Description = Q63_Law_SHAAN_NOV21]
1. 1

[Option ID = 15759]
2.2

[Option ID = 15760]
3.3

[Option ID = 15761]
(4. 4

[Option ID = 15762]

64) Which of the following statements are correct?

(A) In Canada, the federation was not a voluntary union but was imposed by an Act

(B) In India, the Act of 1935 created autonomous units and forged them into a federation

(C) The American Union was formed by voluntary agreement among a number of sovereign states
(D) Indian constitution has been framed by the States and not by the people of India

Choose the correct answer from the options given below:-
(1) (A), (B) and (C) only
(2) (A), (B) and (D) only

(3) (A), (C) and (D) only
(4) (B), (C) and (D) only

Fraferfiaa | 4 w&l she = =99 &

(AY  =arET O afreg mat=ss oy T u siue saferiaem = e e T e



(B)  Wd H, 1935 % G903 Trga S Gotd il a9 3H| Uk ufra § wuied fan)
(C)  smirkA gfaea sgd | du 71 & o= w3 e o g gha fo

(D)  wweTE | TG gR ST 2 A T 9w & e gr

et fou o famreai d | 9l 3 1 =34 fifeu

(1)  %ad (A). (B) 31 (O)
(2)  FaE (A), (B) 31 (D)
(3)  Fad (A), (C) 311 (D)

(49  Fad (B), (C) 31 (D)

[Question ID = 4075][Question Description = Q64_Law_SHAAN_NOV21]
‘ 1.1

‘ [Option ID = 15763]
2.2

[Option ID = 15764]
3.3

[Option ID = 15765]
4. 4
[Option ID = 15766]

65) Amendment in the American constitution may by proposed by:-

(A) Congress with a 2/3 majority in both the Houses of Representatives and the Senate
(B) Congress with a 3/4 majority in both the Houses of Representatives and the Senate
(C) Constitutional convention called by two third of State Legislatures

(D) Constitutional convention called by three fourth of State Legislatures

Choose the most appropriate answer from the options given below:

‘ (1) (A) and (C) only
(2) (B) and (C) only
(3) (B) and (D) only
(4) (A) and (D) only

syifeefl wfanm 4 \eiien Fofefaa g warfaa fen sn a2 -
(A) 71| T s ofi fae 941 4 i g1 2/3 SEhd % |19
(B) =139 = foisieies sin e i1 1 14 2/ 3/4 956d & |1
(C) =1 Teens s faumaee 5w germe e gdurie Aimaes gm

(D) i =ens T famdge g e T sdai sty g

A fou e foshedi | & Hed 39 3o o =9 ifsre

(1)  Fad (A) #HR(C)
@  Fad (B) 31 (C)

(3)  Fad (B) 3 (D)



(4)  Fad (A) 5 (D)

[Question ID = 4076][Question Description = Q65_Law_SHAAN_NOV21]

1.1

[Option ID = 15767]
2.2

[Option ID = 15768]
3.3

[Option ID = 15769]
4. 4

[Option ID = 15770]

66) Match List | with List Il :
List |
Books

(A) The Growth of the Law

(B) The Theory of Legal Science

(C) An Introduction to the Principles

of Morals and Legislation

(D) The Law of Peoples

List Il
Jurists
) H. Cairns
() Cardozo

(Il John Rawls

(IV) Jeremy Bentham

Choose the correct answer from the options given below:

1) (A) - (D, (B) - (n, (€) - (1, (D) -
(v)
(A)-(y, (B) - (), € - (v), (D) -
2) )
(A) - (D, (B) - (1n, () - (v), (D) -
®) (I
(4) (A)-(n, (B) - (m, (€) -, (D) -
(v)
|l 1% 9 g 111 faers shifsr
el T (g el 11 (ferfereran)
(A) =W AHE A @ TEFEE
(B) 7zl 31 el wrEn D) =
(C) A gersH 2 3 fufavest s Hivest ug wifersm (1) o7 T
(D) e A foes @V)y Stdi siem
e fgw T farereai | wel 39T % =gA i
(1) A-O®. @ -d. (© - Jdm, d - av
2 @-am ®B-0O ©-av, O - Jm
3 @A-O @ -ddDn () - av. (D) - {an
4 @A-d. @ -ddn. ¢ -@O @D -adav

[Question ID = 4077][Question Description = Q66_Law_SHAAN_NOV21]

1.1

[Option ID = 15771]

2.2

[Option ID = 15772]

3.3



[Option ID = 15773]
4. 4

[Option ID = 15774]

67) Match List | with List Il :
List | List Il

()  Chief Election Commissioner
(A) Art 326 of the Constitution shall act as the chairman of the
Election Commission

(B) Art 324 (3) of the Constitution () Ban to interference by courts in
electoral matters

(lll) Elections to be on the basis of

Art 328 of th ituti
©) rt 328 of the Constitution adult suffrage

(IV) Power of Legislature of a State to
(D) Art 329 of the Constitution make provisions with respect to
elections to such Legislature

Choose the correct answer from the options given below:

(A)-a, (B - @), (© -, (@ -

) (I
(A)-@am, (B) - (v), (©) - (), (D) -
(2) Iy
3) (A) - (i), (B) - (1), (€) - (v), (D) -
()
4) (A) - (), (B) - )y, (€) - @v), (D) -
(I
g1 T |1 = I 1 faerm &ifs ;
=l 1 gl 11
(A) HfeTH #1 3=92 326 M g FareEa ags, FEEE sEm & g9y & w00 w56
Ezan
(B) fasm =1 sig=dg 324 (3) (A0 = g farEa aee d see 91 gfdes)
(C) &l =1 si=g 328 (IIT) =% BT o TR 9 =19 HLan S|
(D) Hfaar =1 si=2 329 @V) i tr=g & faardee & Fa=a & gey 0 wauarE w559
30 T faarmea i uifd
e fou e fasiered] @ @&l 392 =1 == fifau

(1) (&) —-an. & —av. (© - @O, (D) — dID

(2) (&) -1, B) —adv). (¢ — @, (D) — dn

(3) A -D. B) - d. (©) —aAV). D) — d

(4) A -@O. ® - dn, (©) - avy. (@O - {dIn
[Question ID = 4078][Question Description = Q67_Law_SHAAN_NOV21]
1.1

[Option ID = 15775]
2.2

[Option ID = 15776]
3.3

[Option ID = 15777]
4. 4

[Option ID = 15778]

68) Match List | with List Il :



List |
Conferences of W.T.O.

(A)

List Il

Places where held

Third Ministerial Conference of WTO was held

at ) Hong Kong (China)
(B) Sixth Ministerial Conference of WTO was held () Seattle (US)

at

(C) Fourth Ministerial Conference of WTO was (1) Geneva

held at (Switzerland)

:‘[;)ld aSteventh Ministerial Conference of WTO was (V) Doha (Qatar)

Choose the correct answer from the options given below:

1) (A) - (D, (B) - (n, (¢ - m, (D) -
(v)
) (A)-(y, (B) - (), (€) - (v), (D) -
(I
(A)-@n, (B) - (v), (©) - (), (D) -
Gy
4)  (A)-@v), (B) - (), (€) - ), (D) - (O
|1 1o =12 = I %1 faerA e -
ol I (gseyg % wnier) g1 11 STz <1e1 R 7)
(A) ooy A o e dfEafE v g @ = ()
(B) ey A 31 1 wa Bl wee g o D fagea (swfE)
(C)  =oey &1 31 =1 =l vefiadi |ier g o D) s+ (feaeaetz)
(D) ocy 1 3 o1 ATdEl HAE{a Ao 230 41 IV) =re (Fer)
1l fau e forsreredi 6 w2l 39 =1 =g fifero
1 A-O @ - an, (¢ - dJdn, D) - av
2 @W-dm. ®-O0O. (© -av. (D) - (Im
(3 @-dm. ®-adv). ©-O. (D - Im
4 A-av. ® - @n. (¢) - da. (D - @D

[Question ID = 4079][Question Description = Q68_Law_SHAAN_NOV21]

1.1

[Option ID = 15779]
2.2

[Option ID = 15780]
3.3

[Option ID = 15781]
4. 4

[Option ID = 15782]

69) Match List | with List Il :
List |

(Definitions of)

List Il

(Provisions of Indian Penal Code)

(A) Solitary confinement ) Section 95 IPC
(B) Act of a child under seven years () Section 93

of age

(C) Communication made in good

faith

() Section 73 IPC



(D)

Act causing slight harm

(IV) Section 82 IPC

Choose the correct answer from the options given below:

(1 A)-am, (@ - @), (© -, @O -
@) ::/))- ), (B) - (n, (€) - (am, (D) -
3) A)-av), (B - an, (€ - A, (D) -
4)  (A)-an, (@) - am, (€ - @), (O -
w1 1% =y g 115 faem fifaw
e 1 ()
(A)  TEHId i
(B) Hd A H &Y o et F Fe
(C) w&awE H o 1 |ang
(D)  SAIf3TR &1 9EaT- o1 Fca
4 fau o fasereai | ol 391 1 =99 Fifau
(1 @-dn. B - Idv). (¢ - dn.
2 A-@O @ - d). (©) - (Im).
3 @A-aV). @) - 1), (©) - dm.
4 A-1. ®) - JD, () - @V).

()

0]

0]

gl 11 (Areta 2ve wied 1 am)

(D #7E b fi =it =y o5
(ID =W 93
(IID) = 73, 318 i =
(IV) &=m 82, 318 i 4
D) - (@D

D) - aIV)

D) - @

D) - @D

[Question ID = 4080][Question Description = Q69_Law_SHAAN_NOV21]

1.1

[Option ID = 15783]
2.2

[Option ID = 15784]
3.3

[Option ID = 15785]
4. 4

[Option ID = 15786]

70) Match List | with List Il :

List |
(A) Negligence
(B) Strict Liability

©
(D)

Absolute liability

Nervous shock

U

(m

List Il
Ryland V Fletcher
M.C. Mehta V Union of India

(Ill) Glasgow corporation vs Muir

(IV) Bourhill V Young

Choose the correct answer from the options given below:

1) (A)-a, () - (@M, (€ - (m, (D) -
vy

) A)-(,  (B) - (m, (C) - @), (D) -
(m

3) (A)-(@m, (B) - @M, (€) - ), (D) -
(v)

(4) (A)-(@m, (B) - @, (€) -, (D) -

(v)



g 1% | = I Toerm Fifsw

q 1 g 11
&) Feq @) T S Fere
(B) F i (ID) vn i Hed 941 9Wd 59
(C) arefass aifdea (III) TeTRRTl S TIRTIH S-TH g8
(D) dfafm s (IV) efaet 9= I
Jl feu 1o faerereal @ ol 3 1 =94 fifeu

1 @A-dam ®& -0 (© -dn @O - dav
2 @W-0O. @® -dn. © - av. @O - dy
3 @-dn. @ -@O. (© —-d)h. (@D - dV)
@ @A-dn @ -dad. © -@O, (@D - dv)

[Question ID = 4081][Question Description = Q70_Law_SHAAN_NOV21]
1. 1

[Option ID = 15787]
2.2

[Option ID = 15788]
3.3
\

[Option ID = 15789]
4. 4

[Option ID = 15790]

71) Match List | with List Il :
List | List Il

(A) Section 162 of the Indian

| Pledge by M tile Agent
contract Act, 1872 0 edge Dy Mercantile Agen

(B) Section 178 of the Indian () Bailor’s duty to disclose faults in
contract Act 1872 goods bailed

(C) Section 214 of the India contract (lll) Termination of gratuitous

Act, 1872 bailment by death

(D) Section 150 of the Indian (IV) Agent’s duty to communicate
contract Act, 1872 with principal

Choose the correct answer from the options given below:

(A)-@,  (B) - (v), (€) - (), (D) -

(M (I
@) (A) -, (@) - O € - av), () -
()
3) A)-(v), ®B) - ), (© - O, (D) -
1)
(A)- (i, (B) - (), € - av), (D) -
(4) (”)
= 1o | F{ 11 e s :

g 1 gl 11
(A) s wige s, 1872 Faw 162 (@  afofsu sifaswal g fied s
(B) g wfger snferfm, 1872 g 178 (ID)  Fuf+fed awq i 4 6l FHerre = fom 3o
1 ggd



(C) Wy wfgen snferfam, 1872 6 am 214
(D) e wfaegn snferfm, 1872 4 am 150
1 oo o faereted | | 39 % =997 Fif
1 WW-O @ -aV. (© - Jd,
(2) (A -1, @ - d. (©) — dv).
(3) Ay —-adv). @ - dan. (€ — @.
4 (A-dn. B -OM. (© - av.

(IID) 9 3101 - 4ok 39fema =1 56T
(IV) rfeter & | ool #3 <l sifueral 1 252

(D) — )
(D) — (1)
(D) — (1)
(D) — @)

[Question ID = 4082][Question Description = Q71_Law_SHAAN_NOV21]

1.1

[Option ID = 15791]
2.2

[Option ID = 15792]
3.3

[Option ID = 15793]
4.4

[Option ID = 15794]

72) Match List | with List Il :

List | List Il
(A) Sec.13 of C.P.C. 0] Foreign court
(B) Sec.2(5) of C.P.C. {II) Presumption as to foreign
judgements
(©) Sec. 2 (6) of C.P.C. (i When foreign judgement not
conclusive
(D) Sec.14 of C.P.C. (IV) Judgement of a foreign court
Choose the correct answer from the options given below:
(A) - (), (B) - (IH, (€) - (v), (D) -
(1)
(1
) (A) - (), (B) - (1), (€) - (v), (D) -
I
(A) - (un, (B) - (), (€) -, (D) -
(3) (V)
4  @A)-a, @) -av), (© - am, @ - @)
e 1% =g g 11 faers $ifso
i I g+l 11
(A)  H=Hod L Fram s (D faeefh =mem
(B) H A1 Fram 2(s) (D) fagef fofai < = 4 3gsmon
(C) i did. Fram 2(6) (D) ferefi fofa e fv=me a8 @m
(D) #idH Fram 14 @v) fagsf =grareri = faofg
=t feu o fasrered | HE1 39 =1 =94 fifsro
1 @W@-O. @6 -d. (© - av). @ - don
@ @-dnh B -@O. (© —-av. @ - dn
@ @-dan ®d-0O ©-ada. O -adJv
4 @-a @ -adv., © - dam, O - @



[Question ID = 4083][Question Description = Q72_Law_SHAAN_NOV21]

1.1

[Option ID = 15795]
2.2

[Option ID = 15796]
3.3

[Option ID = 15797]
4. 4

[Option ID = 15798]

73) Match List | with List Il :
List |

(A)

National Human Rights Commission

National Commission for Backward

(B)

Class

National Commission for Minorities

©

National Commission for Scheduled

(D)

Caste

List Il
) Article 338

(Il) State to introduce
regulatory regime in the National
Interest

(lll) Power to recommend
payment of compensation

(IV) Article 338-B

Choose the correct answer from the options given below:

1) (A) - (D, (B) - (n, (€) - (1, (D) -
(v)
(2) (A)-@m, @) - @v), () -y, @ - O
3) A)-av), (B) -, (€ -ay, @ - O
(4) (A)-(v), (B) - (), (€) - (), (D) -
(i
w1 I o = gq=h 11 =1 faerm sifs
1 o+l 11
(A) TFEETRERR ST @) =S 338
(B) T Ty At s AD) <31 refea o farages svmEa ore s e
(C) U1 S{eaHET 3 (IIT) wfergfd =i a6 srgran e 6 vife
(D) T srHi=a S SR (IV) =3 338-f
1 fou e fasetea] | w2 3w %1 ==a fifaw
1 @W-O @ -da. (C) - dD. @D - IV)
2 (A-ddn. B -aV). (O -a. @ - @D
3 @A@-av). ® - dnh. (C)-an @ - @D
@ @W@-a. ® -dm. (© -O. (D — (Im

[Question ID = 4084][Question Description = Q73_Law_SHAAN_NOV21]
1. 1

[Option ID = 15799]
2.2

[Option ID = 15800]
3.3

[Option ID = 15801]
4. 4

[Option ID = 15802]

74) Match List | with List Il :



List | (Definitions of) List Il (Provisions under Information Technology

Act, 2000)
(A) Computer ) Section 2 (g)
(B) Computer Network () Section 2 (k)
(C) Certifying Authority (lll) Section 2 (j)
(D) Computer Resource (IV) Section 2 (i)
Choose the correct answer from the options given below:
1) (A) - (D, (B) - (n, (€) - (am, (D) -
()
) A)-@, @ - O, € - avy), () -
(1)
(A)-(v), (B) - (), () - (), (D) -
(3)
(n
4)  A)-m, B) - @v), (€) - ay, (@) - @)
HA T % are H=H 11 1 fgerm ifr
e I (i) H 11 (a1 serfirh] sifafaad, 2000 % wa9m9)
@& FI D =2 (g)
(B) gt Aeadh (I =m 2 (k)
(C)  vHmrEFal wifaed (IID) = 2 )
(D) gt qrEH (IV) 91T 2 (1)
= feu o fasrered) | 5 39 &1 =9a Fifew

1 A-® ®-3da (© - dJn D - adav
2 @-a. ® -0 © -a). @O - dn
(3 @-av. @ - db. ©) - @O @O - dy
@4 A-dn ®-av. © -a. @O - @d

[Question ID = 4085][Question Description = Q74_Law_SHAAN_NOV21]
1.1

[Option ID = 15803]
2.2

[Option ID = 15804]
3.3

4
[Option ID = 15805]
4. 4

[Option ID = 15806]

75) Match List | with List Il :
List | List Il

) Presidential Election Nov.7,

(A) Article-V 2012

(I) Congress on the eve of

B) Article - 1ll
(B) Article Presidential Election

() The Judicial power in American

C) Chapter-V
© aprer Supreme Court
(D) Chapter - IV (IV) Amendment of the Constitutions

Choose the correct answer from the options given below:

A)-m, (B -m@m, (€ - @), (@ -

D



(A) - (), (B) - (D, © - @av), (D) -
(m

S B3) A)-v), (B) -, (¢ -, @ - O
4  (A)-an, (B) - V), (€) - (), (@) - D

(2)

ol 1o | {= 113 e ifs .

HA1 1 el 11
(A) sH=wE -V (I) ufaEhmas 94M, Nov 7. 2012
(B) #i=as - 1L (D) ufaSsiaa 94m@ i qEEen W HiE
(C) = -V (IIT) Tufrer A 1§ =Arfa wifd
(D) eI - IV (IV) HfgeE 1 g9nad
e Tou o fasgereai | w2 39 %1 =24 ifaw

1 @-O0O @G -d. © -av). @O - {1
(2 @»}-dn ® -O. (© -av. @O - d
3 @W-av). @ - dn. ©) - dn. @ - @d
4 A-dn @\ -av. © -am. O -@O

[Question ID = 4086][Question Description = Q75_Law_SHAAN_NOV21]
1.1

[Option ID = 15807]
2.2
[Option ID = 15808]
[ 3.3
r———
‘ [Option ID = 15809]
4. 4

[Option ID = 15810]
76) Arrange in chronological order the publication of the books on Jurisprudence:
(A) A Practical Treatise of Architectural Jurisprudence by James Elmes
(B) The Spirit of Common Law by Roscoe Pound
(C) World Poverty and Human Rights by Thomas Pogge
(D) Taking Rights Seriously by Ronald Dworkin
(E) The Growth of the Law by Benjamin N. Cardozo
Choose the correct answer from the options given below:
(1) (B), (A), (C), (E), (D)
(2) (E), (B), (A), (C), (D)
\ (3) (A), (B), (E), (D), (C)
(4) (B), (A), (E), (C), (D)

faferemes i Fefafeaa el #1 3 YH % FaEargar saftod =i ;
(A) v ueHd g iHd 3 Hiaesd s i sifhdara gy’
(C) g 9l grafaa e uiadi ug g ged
(D)  Tiree safda g e 2 ngen diferoed
(E)  <15A A, reist gw if=a o my siie s @



1 fau e faeredi O 0 g 3o = = Fifeu

(1) (B). (A). (C). (E). (D)
2 (E).(B). (A). (C). (D)
3 A).B).(E). D). ©)
4 (B).(A). (E). (C). D)

[Question ID = 4087][Question Description = Q76_Law_SHAAN_NOV21]
1.1

[Option ID = 15811]
2.2

[Option ID = 15812]
3.3

[Option ID = 15813]
4. 4

[Option ID = 15814]
77) Chronologically arrange (Article wise) the following provisions of the Constitution of India:
(A) Special Provisions with respect to the State of Sikkim
(B) Special Provisions with respect to the State of Karnatka
(C) Special Provisions with respect to the State of Manipur

(D) Special Provisions with respect to the State of Nagaland

Choose the correct answer from the options given below:

(1) (©), (D), (A), (B)
(2) (D), (C), (B), (A)
(3) (D), (C), (A), (B)
(4) (C), (D), (B), (A)

qRA o HfA9H 6 FHeAfeTiad 271 | FTeldy  FJaN AT F:
(&)  fafarn o5 & Hag 1 fasm 3uaw
(B) AT Usa & gaa o faum 9=y
(C)  wforg vrsa % Haa | fasm 3vey

(D)  ARTAE T4 o Ha9 4 fasm 3vee

1 v o feenedi 4 & wdi g =1 =15 Fifs

1) (C). (D). (A). (B)
@  ([D.O).B). W
(3 (D). (C). (A). (B)
4)  (C). (D). ®B).A)

[Question ID = 4088][Question Description = Q77_Law_SHAAN_NOV21]
1.1

[Option ID = 15815]
2.2

[Option ID = 15816]
3.3

[Option ID = 15817]
4. 4



[Option ID = 15818]
78) Indicate the correct chronological order of years the following cases they were decided:

(A) Case concerning the Temple of Preah Vihear
(B) Frontier Dispute (Burkina Faso V. Mali)

(C) The Caroline case

(D) R.V. Keyn

(E) Chorzow factory (Indemnity) case

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)
(2) (E), (D), (C), (B), (A)
(3) (€), (D), (E), (A), (B)
(4) (B), (C), (D), (E), (A)

Treferfiga wraet] =1 39eh fotu 1o fofg = ad & smam 92 FTeaEaER srafed i -

@) T fafeer o ofe g amwen

B)  wfeat faar (=T Ew e
(C) e wmen

(D) HW =M T

(E) =g ad] (afcmon) g

A= faw e farepedl 4 & @) 3o 1 =ra Fifs :

(1 (A). (B). (C). (D). (E)
@ (E). (D), (©).B).A)

3 (O (D). (E). A). (B)
4 (B)(C). (D). (E). (A)

[Question ID = 4089][Question Description = Q78_Law_SHAAN_NOV21]
1. 1

[Option ID = 15819]
2.2

[Option ID = 15820]
3.3

[Option ID = 15821]
4.4

[Option ID = 15822]
79) Indicate the chronological order of the years of the following cases as decided by the Supreme Court:

(A) State of T.N. V. Balkrishna

(B) Mangesh V. State of Maharashtra

(C) Ram Kumar V. State of M.P.

(D) K.M. Nanavati V State of Maharashtra
(E) Mahesh chander V. State of Delhi

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)
(2) (E), (C), (B), (D), (A)
(3) (D), (A), (B), (C), (E)
(4) (C), (D), (A), (B), (C)

F=ady e g fao o Frefatad amei & foE e & Fewagan sareE w-



(A)  afaerarg a5 a9 . arerE
(B)  HIE SHTH HERT 5

(C) T W F-M H=I9T 754
(D) .. FEES S GBS T

(E)  wes ==t 39 fal s

1= fau aru forepedi § 3 @& 3o 1 =0 il

(1) (A). B). (). D). (E)
(2 (E). (C). (B). (D). &)
(3) (D). (A). B). (O). (E)
4 (©). D). &) ®B). )

[Question ID = 4090][Question Description = Q79_Law_SHAAN_NOV21]
1.1

[Option ID = 15823]
2.2

[Option ID = 15824]
3.3

[Option ID = 15825]
4. 4
[Option ID = 15826]
80) Arrange the correct sequence in which the liability for tort will arise for the following:-
(A) Damages
(B) Breach of duty
(C) Duty to take care
(D) Causation
Choose the correct answer from the options given below:
(1) (A), (B), (C), (D)
(2) (B), (C), (A), (D)
(3) (C), (B), (D), (A)
(4) (C), (A), (B), (D)

FuF g e % Aoy d frafefaa =i o on 1 o ;-
&)  AFEE

(B) ey

(€©)  uEuHl 9t 1 g

(D) o day

i fou o faeredi 1 | g8 3R o 994 Fifee

1) @&.®B). ). D
(2) (B (A). D)

(3) (O (B). D). (A)



4 (). (A). B). (D)
[Question ID = 4091][Question Description = Q80_Law_SHAAN_NOV21]
1.1

[Option ID = 15827]
2.2

[Option ID = 15828]
3.3

[Option ID = 15829]
4. 4

[Option ID = 15830]
81) Arrange the provisions of the Indian contract Act 1872 in chronological order (Section wise)
(A) Who are competent to contract
(B) Effect of mistakes as to law
(C) What agreements are contracts

(D) Agreement in restraint of marriage is void

Choose the correct answer from the options given below:-

(1) (©), (A), (D), (B)
(2) (A), (C), (B), (D)
(3) (©), (A), (B), (D)
(4) (A), (C), (D), (B)

HRTE |iaar wafEm, 1872 % 3G9 (9RI31) F1 FHeidd & SAJER Aaieerd & o-

(A) Al FE & fou %13 mem g e
B)  fafa = uia i 1 gvma
(C) #HR-UFmEfFaid?

(D) foam #1 saias FE A 2|

et fae o, forepe 1 4 B 3o 1 == i

1 (0. A, D). B
2 (A).(0), (B). D)
3  (©.A). B. D)
4 (A.©).D.®

[Question ID = 4092][Question Description = Q81_Law_SHAAN_NOV21]
1.1

[Option ID = 15831]
2.2

[Option ID = 15832]
3.3

[Option ID = 15833]
4. 4

[Option ID = 15834]
82) Arrange in chronological order the following judgments on cruelty as a ground of divorce
(A) A. Jaya Chandra V. Aneel Kaur

(B) Naveen Kohli V. Neelu Kohli
(C) Dastane V. Dastane



(D) Bhagat V. Bhagat

Choose the correct answer from the options given below:

(1) (C), (B), (D), (A)
(2) (A), (C), (B), (D)
~ (3)(C), (D), (A), (B)
(4) (D), (C), (A), (B)

A1, deT 1 Ush AR o Hai4 | eferfiaa fAoi 1 Fier-sn @0 | sgafd #

(A) U, T F5 M A FR
(B) 9 *iEcll sHM™ Hie] FEel
(C)  EraH 99 A

(D) | Y W

1= fau e farspedi 4 @ @l 3o #1 =ra Fifs :

1) (C).(B), (D). A)
@  @.0.®3B.MD)
3 (0. (D). A). B

@ (D). (). A). (B

[Question ID = 4093][Question Description = Q82_Law_SHAAN_NOV21]
1. 1

[Option ID = 15835]
2.2

[Option ID = 15836]
‘ 3.3

[Option ID = 15837]
4. 4

[Option ID = 15838]
83) Arrange the following in chronological order

(A) United Nation Conference on the Human Environment

(B) United Nation Conference on Sustainable Development

(C) United Nations Conference on Environment and Development
(D) World Commission on Environment and Development

(E) United Nations Sustainable Development

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D), (E)
(2) (B), (A), (D), (C), (E)
\ (3) (A), (D), (C), (B), (E)
(4) (E), (D), (B), (C), (A)

(A)  wHa yEfEm el JgEd T qeEEE
(B)  Hurig faskm da dga T qrier

(C)  wiEw 37N Tk Heiedl 5gad 02 siyer



(D)  wHTaTYy s fasra ded fasa smam

(E) &g g Head faskrg
T fau e faehedi 0 4 |5 30 1 =21 fifau

1) (A).®B). (©). (D). (E)
2 (B). (A, D). (©).(E)
3 (A D). ©). ®B).(E)
@ (E). D). ®B. (). A

[Question ID = 4094][Question Description = Q83_Law_SHAAN_NOV21]
1. 1

[Option ID = 15839]
2.2

[Option ID = 15840]
3.3

[Option ID = 15841]
4. 4
[Option ID = 15842]

84) Prof. William Fisher identified four analytical constructs of theories of intellectual property under which of the
following sequence?

(A) Personality Theory

(B) Labour Theory

(C) Social Planning Theory

(D) Utilitarian Theory

Choose the correct answer from the options given below:
(1) (B), (A), (D), (C)

(2) (C), (B), (A), (D)

(3) (D), (B), (A), (C)

(4) (A), (D), (C), (B)

Feafetfiaa o o 4 W, faform fevr 3 sifae quar fgra o = favervnasss sqoen 61 ga=n- i -
(A)  =afaied fagra

®) o fagr

(€)  wmrfse famams fagra

D)  FuifrarEE e

A feu o fasedi 4 | 5 39 %1 =949 fif

1 B A). D). ©)
(2 (©).®B).A.D
3 (D). [B).A.(©)
@ @A), (D). (). (B

[Question ID = 4095][Question Description = Q84_Law_SHAAN_NOV21]
1.1



[Option ID = 15843]
2.2

[Option ID = 15844]
3.3

[Option ID = 15845]
4. 4

[Option ID = 15846]

85) The trend towards codification of the British constitution in whole or in part is a movement during the past decade
from eminent quarters. Arrange them in chronological order:

(A) Northern Ireland Act

(B) Referendum Act

(C) Scotland Act

(D) European Communities Act

Choose the correct answer from the options given below:

(1) (A), (D), (C), (B)
(2) (B), (C), (A), (D)
(3) (D), (A), (B), (C)
(4) (C), (B), (D), (A)
Tafes afasm & i =1 swfers dfearon 6 yafd e g9 1 31 TR1E 2631 4 UF 720 ¢ 3¢ FIethaTgan

Hafedd &

(A) I sravete it
B)  wHwd Al

(C)  TFiceie sfafay

D) v afif sfifem

=t few mu fospeai | | Al o #1 = i ;

1 (A). D). (C). B
2  (B.0), A). D
3 (D). A).®B.(C)
@ (C.(@B). D). @A)
[Question ID = 4096][Question Description = Q85_Law_SHAAN_NOV21]

1.1

[Option ID = 15847]
2.2

[Option ID = 15848]
3.3

[Option ID = 15849]
4.4

[Option ID = 15850]

86) Given below are two statements:

Assertion A : The rule making power of the Supreme Court for regulating the practice and procedure of the court is not
subject to any law made by the Parliament of India

Reason R : Only an impartial and independent judiciary can protect the right of individual without fear or favor

In the light of the above statements, choose the correct answer from the options given
below:

(1)  Both A and R are true and R is the correct explanation of A



(2) Both A and R are true and R is NOT the correct explanation of A
(3)  Ais true but R is false

. (4)  Ais false but R is true
191 3 %o fau o ¥ v sfiea (Assertion A) ¥ & i fotfiad 2 1 550 365 #1001 (Reason R) % &9 4 :

Ao A : I59q9 AR FH AW & SE a9 wEEEeE 6 fafaiia #e 2g FEg aae d
wifareal gt J6E g A T frE ot s o sriE A 2 )

FENR:  ad U Hwg iR saas Eatas d fom e g anna & e & sifawri i gen =
EETIR

I e o 3Tl |, T fou e fasedi 0 @ g 30w 391 1 =44 Fifa)

(1) AR RIH &1 € 3R R, A9 @ sAaran 2|
(2) AR REH 4 2 3 R, A wd = Ad 21
(3) Aw=dzafFE REAFE 2

4) A=diFi2dfFE RAA D

[Question ID = 4097][Question Description = Q86_Law_SHAAN_NOV21]
1. 1

[Option ID = 15851]
2.2

[Option ID = 15852]
3.3

[Option ID = 15853]
4. 4

[Option ID = 15854]

87) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reasons R.

Assertion A : The right of private defence of body extends to causing of death to the Assailant in case of assault of throwing
or administering acid or an attempt to throw or administer acid which may reasonably cause the apprehension that grievous
hurt will otherwise be the consequences of such Act.

Reason R : This provision was inserted under clause (7) of section 100 IPC by Act 13 of 2013 in view of increasing cases
of acid throwing on the girls and women in India

In the light of the above statements, choose the correct answer from the options given
below:

(1)  Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct
A1 1o fau o 2| vep s1fueners (Assertion A) % %9 4 forfiad 2 1 g0 39 #1701 (Reason R) &9 4
aAfyerem A ¢ vk o Tsll e =1 sifomem dt e a1 39 1 dee e A o o v ol R O anermr

&1 gy, S T 29 swie @ el R A g 2 R e |z W e H 9 e F
SOOI SR, 9 AR B 21

FOIR: AW H eTelHdl AR afaensi 9 die O o d@d He 6 gt 2013 F AaHag 13 36
T8 i 4t 1 9 100 F @UE 7% 3 39e 37 Lenfud fr e e

I 9 o ATl 4, A= feu mo faseai O 1 gem 3w 39 1 994 fif



(1) AsRREH ®E & #R R, A ¥ =men 2
(20 ASRRIHE HA 2 3 R, A w8 = 47 2
(3) Al 2 e R w38 2

(49 A=A 2 olf Rad 2

[Question ID = 4098][Question Description = Q87_Law_SHAAN_NOV21]
1. 1

[Option ID = 15855]
2.2

[Option ID = 15856]
3.3

[Option ID = 15857]
4. 4

[Option ID = 15858]

88) Given below are two statements:

Statement | : Dominant position means position of strength enjoyed by an enterprise in relevant market in India which
enables it to opreate independently of operative forces and affects competitors and consumers in its favour.

Statement Il : No enterprise shall abuse its dominant position.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are true.
(2) Both Statement | and Statement Il are false.
3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

H1 21 e fzume 8

s 1 2 sifrssef feufa & siyam 2 fo frl 3em g awa & dra arem 8 s wiea feafd = ey
F3MI 2, Toed 28 w=rerTens: ifEdl | Tdd 59 9 u=ed & 0 geragdn o | qen gl

Ud 3] 1 3H T HHF 99TE 2 |

FUAIL: 15 ofi 3w s siferare fearfa =0 gemrm 34 e

JUEIH H9A o STl 4, A1 fou e fasel § 4 gem 399 IR 1 =94 Fife)

(1) = I3 [EEI 8 &
(20  #oA I3 IIGH H5eE 2
(3) A T4 2, cifehe 9 11 34 2|
(4 R [ 559 2, offe %o [T HAE 2
[Question ID = 4099][Question Description = Q88_Law_SHAAN_NOV21]

1.1

[Option ID = 15859]
2.2

[Option ID = 15860]
3.3

[Option ID = 15861]
4. 4

[Option ID = 15862]

89) Given below are two statements: One is labelled Assertion A and the other is labelled as Reasons R.



Assertion A : Under the companies Act of 2013 Central Government is authroised to implement a facility to file documents
in electronic form.

Reason R : Central Government is authorised to make rules to implement this facility and section 398, 401 and 402 have
been incorporated in the Act of 2013.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true and R is NOT the correct explanation of A
(3) Ais true but R is false

(4)  Ais false but R is true

11 1 e fau o 2| vk s1faekea (Assertion A) % %19 4 forfiad 2 1 240 30 #101 (Reason R) & &9 14 ;

stfisod A ¢ S sHfafEm 2013 % A gedrast i et w0 8 Teqd 4 o giae ar FE v
TR AT 2

FANR: o3 TR gH HiAT F1 o] w0 g e saE % o s @ sieam 308, 401 3R 402
2013 % srafiEm 4 waifea fHo mo #)

TR e & sATettsh o, 4 fau e fammedi O 4 ge 3w 39 @ =94 il

(1) AR REH & 2 3R R, A w4 =ve 2)
(20  AsfltREH | 2 3 R, A 9 w8 v 7 2
(3 AudizafF REA A2

(9 Awndi=di e dfea Rudl 2

‘ [Question ID = 4100][Question Description = Q89_Law_SHAAN_NOV21]
1. 1

‘ [Option ID = 15863]
2.2

[Option ID = 15864]
3.3

[Option ID = 15865]
4. 4

[Option ID = 15866]

90) Given below are two statements:

Statement | : No person except the father or mother of a child shall have the capacity to give the child in adoption under
the Hindu Adoptions and Maintenance
Act 1956.

Statement Il : Under the Hindu Adoptions and Maintenance Act 1956, the same child may not be adopted simultaneously
by two or more persons

In the light of the above statements, choose the most appropriate answer from the options given
below:

(1) Both Statement | and Statement Il are correct.
(2) Both Statement | and Statement Il are incorrect.
3) Statement | is correct but Statement Il is incorrect

‘ (4) Statement | is incorrect but Statement Il is correct
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[Question ID = 4101][Question Description = Q90_Law_SHAAN_NOV21]

1.

2.

3.

1

[Option ID = 15867]

2

[Option ID = 15868]

3

[Option ID = 15869]
4. 4

[Option ID = 15870]

Topic:- 58LAW_B

1)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and

instrumental wvalue. As an intrinsic value, human dignity is an entitlement or a

constitutionally protected interest in itself. In ifs instrumental facet, dignity and freedom are

inseperably inter-twined, each being a facilitative tool to achieve the other. The ability of the

individual to protect a zone of privacy enables the realisation of the full value of life and

liberty. Liberty has a broader meamng of which privacy is a subset. All liberties may not be

exercised In privacy. Yet others can be fulfilled only within a private space. Privacy enables

the individual to retain the autonomy of the body and mind. The autonomy of the individual is

the ability to make decisions on vital matters of concern to life. Privacy has not been eouched

as an independent fundamental right. But that does not detract from the constitutional

protection afforded to it. once the true nature of privacy and its relationship with those

fundamental rights which are expressly protected is understood. Privacy lies across the

spectrum of protected freedoms.
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The referred paragraph is taken from the judgement of the Supreme Court in

(1) A.D.M. Jabalpur V. S. Shukla

(2) Mohini Jain V. State of Karnataka

(3) Maneka Gandhi V. Union of India

(4) Justice K.S. Puttaswami (Retd.) and another V. Union of India and others
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[Question ID = 4102][Question Description = Q91_Law_SHAAN_NOV21]

1.1

[Option ID = 15871]

2.2

[Option ID = 15872]

3.3

[Option.ID = 15873]

4. 4

[Option ID = 15874]

2)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and
instrumental wvalue. As an intrinsic value, human dignity is an entitlement or a
constitutionally protected interest in itself. In its instrumental facet, dignity and freedom are
inseperably inter-twined, each being a facilitative tool to achieve the other. The ability of the
individual to protect a zone of privacy enables the realisation of the full value of life and
liberty. Liberty has a broader meaning of which privacy is a subset. All liberties may not be
exercised in privacy. Yet others can be fulfilled only within a private space. Privacy enables
the individual to retain the autonomy of the body and mind. The autonomy of the individual is
the ability to make decisions on vital matters of concern to life. Privacy has not been couched
as an independent fundamental right. But that does not detract from the constitutional
protection afforded to it. once the true nature of privacy and its relationship with those
fundamental rights which are expressly protected is understood. Privacy lies across the

spectrum of protected freedoms.
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The referred paragraph is a part of the judgement delivered by:

(1)
(3)

Justice Chelameshwar (2) Justice D.Y. Chandrachud

Justice S.A. Bobde (4) Justice F.M. Nariman
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[Question ID = 4103][Question Description = Q92_Law_SHAAN_NOV21]

1.1

[Option ID = 15875]

Ao 72

A
[Option ID = 15876]

3.3

[Option ID = 15877]

4. 4

[Option ID = 15878]

3)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and

instrumental wvalue. As an intrinsic value, human dignity is an entitlement or a

constitutionally protected interest in itself. In its instrumental facet, dignity and freedom are

inseperably inter-twined, each being a facilitative tool to achieve the other. The ability of the

individual to protect a zone of privacy enables the realisation of the full value of life and

liberty. Liberty has a broader meaning of which privacy is a subset. All liberties may not be

exercised in privacy. Yet others can be fulfilled only within a private space. Privacy enables

the individual to retain the autonomy of the body and mind. The autonomy of the individual is

the ability to make decisions on vital matters of concern to life. Privacy has not been couched

as an 1ndependent fundamental right. But that does not detract from the constitutional

protection afforded to it. once the true nature of privacy and its relationship with those

fundamental rights which are expressly protected is understood. Privacy lies across the

spectrum of protected freedoms.
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In which of the following case it was held that right to privacy is not protected as a fundamental right under the
Constitution?

(1) M.P, Sharma V. Satish Chandra, District Magistrate, Delhi
(2) Govind V. State of M.P.

(3) R. Rajagopal V. State of Tamil Nadu

(4) K.S. Puttaswami V. Union of India

faeferfiaa fra gaan # 2 Fofy fam o 6 Frera % sifssn o wfaam % s=ia gel sl % w74
HE T e 27

1) A ymi =W A =g, faeniied, feeet

() Tifas sAm geryey s

(3) WA IERIIE SH AHerTg 1+

(4)  .UH. JErETH, SHTY IR He

[Question ID = 4104][Question Description = Q93_Law_SHAAN_NOV21]
1. 1

[Option ID = 15879]
2.2

[Option ID = 15880]
3.3

[Option ID = 15881]
4. 4

[Option ID = 15882]

4 : .
) Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and
instrumental wvalue. As an intrinsic value, human dignity is an entitlement or a
constitutionally protected interest in itself. In its instrumental facet, dignity and freedom are
inseperably inter-twined, each being a facilitative tool to achieve the other. The ability of the
individual to protect a zone of privacy enables the realisation of the full value of life and
liberty. Liberty has a broader meaning of which privacy is a subset. All liberties may not be
exercised in privacy. Yet others can be fulfilled only within a private space. Privacy enables
the individual to retain the autonomy of the body and mind. The autonomy of the individual is
the ability to make decisions on vital matters of concern to life. Privacy has not been couched
as an independent fundamental right. But that does not detract from the constitutional
protection afforded to it. once the true nature of privacy and its relationship with those
fundamental rights which are expressly protected is understood. Privacy lies across the

spectrum of protected freedoms.
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In which of the following case it was held that the procedure established by law means the procedure must be just, fair and
reasonable?
(1) Kharak Singh V. State of U.P (2) A.K. Gopalan V. Union of India

‘ 3) Maneka Gandhi V. Union of India (4) Govind V. State of M.P.
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[Question ID = 4105][Question Description = Q94_Law_SHAAN_NOV21]
1.1

[Option ID = 15883]
2.2

[Option ID = 15884]
3.3

[Option ID = 15885]
4. 4

[Option ID = 15886]

5 ; ;
) Read the ziven passage and answer the gquestions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and
instrumental wvalue. As an intrinsic value, human dignity is an entitlement or a
constitutionally protected interest in itself. In ifs instrumental facet, dignity and freedom are
inseperably inter-twined, each being a facilitative tool to achieve the other. The ability of the
individual to protect a zone of privacy enables the realisation of the full value of life and
liberty. Liberty has a broader meamng of which privacy is a subset. All liberties may not be
exercised In privacy. Yet others can be fulfilled only within a private space. Privacy enables
the individual to retain the autonomy of the body and mind. The autonomy of the individual is
the ability to make decisions on vital matters of concern to life. Privacy has not been eouched
as an independent fundamental right. But that does not detract from the constitutional
protection afforded to it. once the true nature of privacy and its relationship with those
fundamental rights which are expressly protected is understood. Privacy lies across the

spectrum of protected freedoms.
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Which one of the following statement is correct?

(1) Right to privacy is expressly provided as a fundamental right under the Constitution

(2) Right to privacy is protected as a fundamental right under Article 21 of the constitution

(3) Right to privacy is not protected as a fundamental right under Article 21of the constitution
(4) Article 21 of the constitution protects the life and personal liberty only from executive action

fefetfiaa == 91 %93 97 27

(1) dfay = siald e o stfsn 1 gaeam o w9 4 g sifaen o w9 8 foan 7 2)
@ dfaum % sgesa 21 % siata feren 3 sfuen = ger sifomr & s i e g 2)
(3)  faum & =32 21 % sidvia fosten = s1férem =61 ger srfosn & w0 O weam 8w 2)

(4)

HFATH 1 Fewa 21 Fdel FEAFH] FTA1 4 Sfiaq 3R AT ST 1 Je FaH= H:dl 21

[Question ID = 4106][Question Description = Q95_Law_SHAAN_NOV21]

1.

2.

3.

4.

1

[Option ID = 15887]

2

[Option ID = 15888]

3

[Option ID = 15889]

4

[Option ID = 15890]

Topic:- 58LAW_C

1)

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force,
and this In turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law is nothing more than morality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover, many legal rules are morally indifferent; morality may demand the
existence of some rule without specifying what that rule should be. Such is the case In
municipal law with regard to the formalities required for wills, contracts and conveyances:

and in international law with some of the rules regarding title to territory and the limits of



jurisdiction. The binding force of such rules can hardly be attributed to any moral

characteristic.
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According to Austin, the positive law has following three attributes:

(1) Command, Sovereign, Obedience (2) Command, Sovereign, Sanction

(3) Command, Obedience, Sanction (4) Sovereign, Obedience, Sanction
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[Question ID = 4107][Question Description = Q96_Law_SHAAN_NOV21]

1.1

[Option ID = 15891]

2.2

[Option ID = 15892]

3.3

[Option ID = 15893]

4. 4

[Option ID = 15894]

2)

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force,
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law is nothing more than morality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover, many legal rules are morally indifferent; morality may demand the
existence of some rule without specifying what that rule should be. Such is the case in
municipal law with regard to the formalities required for wills, contracts and conveyances:
and in international law with some of the rules regarding title to territory and the limits of

jurisdiction. The binding force of such rules can hardly be attributed to any moral



characteristic.
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Which one of the following statements is not correct?

(1) Starke and Kelsen contend that there is both legislation and law enforcement in international law
(2) According to Starke, legislation being provided by multilateral treaties in international law

(3) According to Kelsen, sanctions are provided by the right of self-help and war in international law
(4) Treaties and self-help can qualify as legislation and law-enforcement in a positivist sense
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[Question ID = 4108][Question Description = Q97_Law_SHAAN_NOV21]

1.1

[Option ID = 15895]

2.2

[Option ID = 15896]

3.3

[Option ID = 15897]

4. 4

[Option ID = 15898]

3)

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force,
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law is nothing more than morality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover, many legal rules are morally indifferent: morality may demand the
existence of some rule without specifying what that rule should be. Such is the case in

muniecipal law with regard to the formalities required for wills, contracts and conveyances:
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jurisdiction. The binding force of such rules can hardly be attributed to any moral

characteristic.
freferfiaa oo w1 varayds ud s srqadi woAi & s d -~

s fafa = fafe & w9 9 wdemr fra s sohl aversfarns afedd o1 oe 6 4 a9 3= =7 d
2, @i 3ok womwawy vy fafn £ witEfm w we fae @ s 2) g o 3, s a6
area] WA fd Waiae fafa @ sgeataa s 2, % ZR1 39 390 %1 w9 o 21 6 aud o @ 6w fafa
Iferaren @ sifirer @ ot 71 2 ofv Aferen Frai ) e ago fafus T ) faagma 6 5 o 26 21
39 YRR 1 deh siferen & sifiren e guifan 2 T siemnTa fafer & fram Sfas w9 8 segsl &, 3 o fafors wa &
AT | A, W A faferen fem A w0 @ e §; S d #ar fem snestarfaa & @ of & A 8
T TR 1 Wreen aHEa, Hide) s s 99 gente e At qa sirafarms & ame § 2; sin
stqrmdta faf O dmem w1 agea o Frdam A dim gedf w5ty gl O o 20 28 yen F fawi 6
AT =1 9mae ) el A wrde v preifia e s 2

Who defines law ‘as a body of rules for human conduct within a community, which by common consent of this community
shall be enforced by external power?

\ (1)  Oppenheim (2) Austin
3) Bentham (4) Friedman
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‘ [Question ID = 4109][Question Description = Q98_Law_SHAAN_NOV21]
1. 1

l [Option ID = 15899]
2.2

[Option ID = 15900]
3.3

[Option ID = 15901]
4. 4

[Option ID = 15902]

4)
Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force,
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law is nothing more than morality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover., many legal rules are morally indifferent: morality may demand the
existence of some rule without specifying what that rule should be. Such is the case in
muniecipal law with regard to the formalities required for wills, contracts and conveyances:

and in international law with some of the rules regarding title to territory and the limits of



jurisdiction. The binding force of such rules can hardly be attributed to any moral

characteristic.
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Which one of the following statements is not correct?

(1) Hart’s analysis of law suggests that international law consists of legal rules forming not a system but a set of rules.
(2) The absence in international law of any basic rules of recognition prevents its being unified into a system
(3) International law remains a mere set of separate rules

| (4) Many of the rules of international law rest on treaty, not on custom

fereferfier | & =9 | e w49 27

(1) & g fafa = faveron az gare Sa 2 siqurdm fafa 8 e fem o ored 0 w=sg 9 o
e o gst 2

@) sianrdm faf o sl 3 e wmr e F s O g8 o worefi d efied w9 0 s
2l

(3) s fafy fafis Pl =0 o v wge a9 = T R

(@) o fafa g aga | e Efa w enarfa 2@ 2, 3 uaw)

[Question ID = 4110][Question Description = Q99_Law_SHAAN_NOV21]
1.1

[Option ID = 15903]
2.2

[Option ID = 15904]
3.3

[Option. ID = 15905]
4.4

[ [Option ID = 15906]

5)
Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force,
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law is nothing more than morality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument

shows at most that the rules of international law are morally binding, not that they are legally



binding. Moreover, many legal rules are morally indifferent; morality may demand the
existence of some rule without specifying what that rule should be. Such is the case in
municipal law with regard to the formalities required for wills, contracts and conveyances:
and in international law with some of the rules regarding title to territory and the limits of

jurisdiction. The binding force of such rules can hardly be attributed to any moral

characteristic.
frferfiaa o =1 earyds ud s srqadi woAi & s d o~

siqrredra fafa =1 fafs & w9 4 w=hwn fmn s ah) aegsfers afed ) ore w5 0 gaen 389 F:75
2, o gueh womasy a4l fafri 6wt woaw fam am S 20 g o 3, siqanda fafy A
AT YT W o @ sgetaa S 2, % g0 9 S % T T 81 T eee o 2 TR e i
Afcraren | sifirk g oft 7 2 ofv e e & e wgm fafaes faadi o faemama & @i medl 21 2
56 TR & ek sifeeh | stk gz geia 2 b siamria fafa % o Sfas w18 aeed 2, [ e fafre su @
A | A, wea | fafer fem Ao = 4 favsa & Ao d o e sestafen 3 @ of @ s 31
= weER ) wrHen Hd, H@iae ot s w1 genfs e fafrdi gad stearfora s % wwel 8 2; oin
starndta faf O dmes w1 zgea o Frdam R dim gadf sy Aol O o 20 28 g F faai 6
arenIial 1 9nae A el Ao wde w arEiia frn s 2

The view that international law consisted of the precepts dictated to States by natural law was advanced by:
(1) Kelsen (2) Vattel
3) HLA Hart (4) Salmond

77 Hd ek g wfaaiea € fo staondia fafy va st 1 9z @ S = 1 G fafa g sfaefna
fepom sren 27
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[Question ID = 4111][Question Description = Q100_Law_SHAAN_NOV21]
1. 1

[Option ID = 15907]
\ 2.2

[Option ID = 15908]
3.3

[Option ID = 15909]
4. 4

[Option ID = 15910]

Topic:- GP_Set3_A

1)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the vear 2014 to 2019. In

accordance with the table. answer the question

Year-wise Number of Candidates from Different Cities
City — K L M N
e A‘P A‘P A‘P A‘P




.

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

fra dt 7 wrfere 4 39 2014 | 2019 F A G weg K L. M @R N ® fafas g3 ofian 4 mfg=
FHaT A (A) #H wlizn | st sr=fiE (P) i @em % arrs f2w e #) Ao % sEn uew

fafirs =t o =it i adan gen
M —> K L M N

ad A|lP|A|P|A|P| A|P
\)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 630 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What 1= the difference between the total candidates who appeared and total candidates who
passed from City K in all the six years together?

(1) 2060 (2) 2070
(3) 2080 (4) 2090

Tl @ A9 % I0E w= K @ gfian § ufie wshae gl i ge gem A6 9w 3 3 i wnae

(1) 2060 (2) 2070
(3) 2080 (4) 2090

[Question ID = 4117][Question Description = Q01_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15931]
2. 2 [Option ID = 15932]
3. 3 [Option ID = 15933]
4. 4 [Option ID = 15934]

2)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L. M and N during the vear 2014 to 2019. In

accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City —> K L M N
Year A [P | & | GB | ale | P A P
\
2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864




2Ul7 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

I & 7 arfere 4 A9 2014 @ 2019 % EnF 9 weg K, L M @R N o fafae dar wiian 4 migs
aeETe el (A) @R wier | sl sr=fEEl ((P) o e % s fw w #) arfersn % AR T

fafim ot & wrsafsia =i ad=m g

7 = K L M N
it A|lP|A|P|A|P| A |P
X

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What 1s the average number of candidates passed from all the four cities in the year 20157

(1) 528 (2) 529
(3) 530 4 531

T4 2015 % =RH A9 9F FE0 d T 2HE AT $ s e g e 2

(1) 528 (2) 529

(3) 530 (4) 531

[Question ID = 4118][Question Description = Q02_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15935]
2. 2 [Option ID = 15936]

3. 3 [Option ID = 15937]
4. 4 [Option ID = 15938]

3)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
n Civl Services Examintion from four cities K. L, M and N during the yvear 2014 to 2019. In

accordance with the table. answer the question

Year-wise Number of Candidates from Different Cities
Cit —3 K L M N
i A& | Bma]w] & | 2

\2

2014 T82 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | T28 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 364
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

= & 2 mfer § 99 2014 | 2019 % gRW 97 wed K, L M #R N @ fafas a@an wian 4 wivs
FHaTe FefdE (A) 1R e 8 st sreafaai (P) i @ F arws e w #) arfee & sem e

ORI RN ECCEE -1 5o



LU =T L] e

fafim artt @ sreafeat it avan gen

M —> K L M N
al AlP|lA|P|A|P| A|P
)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 208 | 630 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

For which of the following cities the percentage of candidate passed among those who
appeared for the examination 12 minimum in the vear 20197

(1) K (2) L
(3) M (4 N

a9 2019 ® FeAfafag & 9 5 omt @ e § wies sRae o= 8 8 58 gften § 9 e

(1) K 2 L
(3 M (49 N

[Question ID = 4119][Question Description = Q03_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15939]
2. 2 [Option ID = 15940]
3. 3 [Option ID = 15941]
4. 4 [Option ID = 15942]

4)
The table below embodies data on the number of candidatez who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the vear 2014 to 2019. In

accordance with the table. answer the question

Year-wise Number of Candidates from Different Cities
Gity > | K L M N
Year AP KB |A]JE| &2

\

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

H= & TE Arfee ® 99 2014 ° 2019 W @M @R e K, L. M #R N ® fufas g=n when 8 wiwe
e srEfiEt (A) @R wien | sl srsfEl ((P) 6 e % s fu w3 arfersn % sHER T

fafim o=t @ sreafiat i adaw gen

e —> K L M N

A | B A | B A | P A | v




"

2014 782 | 360 | 612 | 310 [ 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 208 [ 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 [ 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | T12 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What 1s the percentage rise in the number of candidates who passed from City K from year
2017 to vear 20187

1) 32% @ 36%
(3)  40% 1) 44%

et K © 99 2018 | 310 a4l K @ g8 @ a9 2017 | 39 Asiaal i gemn o e gioe

(1) 32% (2) 36%
(3) 40% 4) 44%

[Question ID = 4120][Question Description = Q04_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15943]
2. 2 [Option ID = 15944]
3. 3 [Option ID = 15945]
4. 4 [Option ID = 15946]

5)
The table below embodies data on the number of candidates who appeared (4) and passed (P)
in Civl Services Examintion from four cities K. L. M and N during the vear 2014 to 2019. In
accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
G5 K I M N
Vi A|lP|A|P|A|P| A |P

)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

Ji= <t 7 nfer | =9 2014 ® 2019 % S 9 wEG K, L. M R N @ fafas g wfian d mfis
AT e (A) @1 v 8§ s srefdat (P) Fft mem & ws B o 2 arfes & sgEn ae

fafim o=t o arcafe=t i ovEw O
e — K I M N
-, A|lP|A|P|A|P A P
\#
2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
a1+ ~an | 440 | poe |l ane | con | onn | 1no4 | ooa




2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

The total number of candidates who passed from City M in all the six years together 1s what
percentage (%) of the total candidates who appeared from City M in all the =six years
together?

(1) 56% (2) H8%
(3)  60% 4) 62%
il T T4 % A we M # I 2R 9 weEiEl 1 e gem = adl o a9 6 gee v M 3
Titen § |1 © A AriiEt i Fe we w e atow 27
(1) 56% (2) 58%

(3) 60% (4) 62%

[Question ID = 4121][Question Description = Q05_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15947]
2. 2 [Option ID = 15948]
3. 3 [Option ID = 15949]
4. 4 [Option ID = 15950]

Topic:- GP_Set3_B

1) Which theory of learning supports reflective level of teaching?

(1) Theory of conditioning (2) Reinforcemet theory
(3) Need-reduction theory (4) Cognitive field theory

s1ferm =51 F-T1 fage e & o S e w7

(1) A g (2) TEer g
(3) SETEFA- A HgE (4) HFAEER-EE g

[Question ID = 4122][Question Description = Q06_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15951]
2. 2 [Option ID = 15952]
3. 3 [Option ID = 15953]
4. 4 [Option ID = 15954]

2) Identify the characteristics of field-dependent learners from the following?

(A) Perceives global aspects of concepts and materials
(B) Focuses on facts and principles

(C) Prefers to work alone

(Ih Seeks guidance and demonstration from teacher

(E)  Likes to cooperate

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2)  (A). (D) and (E) only
(3) (B). (C) and (D) only
(4) (C). (D) and (E) only

fafetaa 8 & Fios-anim sitams Fa1 $1 fEearst i 9ma= Fifee
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FIIRONAT AR TR F F¥a® Tea 37 F1 GA5
Aot 3R fagial = w2 B
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tion ID = 4123][Question Description = Q07_GP_21NOV_S1_SHAAN]

1. 1 [Option ID = 15955]
2. 2 [Option ID = 15956]
3. 3 [Option ID = 15957]
4. 4 [Option ID = 15958]
3) : ——
Match List T with Last IT
List I List IT
(Levels of teaching and learning) {Main feature)

(A) Autonomous development level (I) It is problem-centred and requires on
the part of learners more active
participation. more Imagination and
creativeness

(B)  Memory level (II) Lays stress on the importance of
students’ feelings and minimizes the
value of hard thinking.

(C) TUnderstanding level (IIT) It1is comparatively thoughtless.

(D) Reflective level (IV) It emphasizes  on seelng of
relationships between principles and
solitary facts.

Choose the correct answer from the options given below :
(1) (A)-(I). (B)-(IT). (C)-(I11I), (D)-(IV)
(2) (A)-(IID), (B)-(IV), (C)-(D), (D)-(ID)
(3)  (A)-dD). (B)-II). (C)-AV). (D)-I)
(4) (A)-(IV). (B)-(I). (C)-(II). (D)-(III)
THt-1 % Ty g1 =1 faem i
i1 RSiB!!
(A) I T T (I) == THEAT *igd &A1 & A9 TEH FTamEl
(B) T EW (ID) = fnfdi it wET & 95c3 W 99 3O
(C) rasiy & (III) = gerTea= =9 9 fa=mda g 2|
(D) fomeis =m (IV) = fagEl =R vl a2 + = 969 0
g WS A 2
S Y o SUNRNIN o SN 5. A, SRS . UL . | o S



(1)
(2)
(3)
4

(A)-(D). (B)-(ID). (C)-(III). (D)-(IV)
(A)-ID. (B)-AV). (C)-(I). (D)-(II)
(A)-(D. (B)-(IID. (C)-IV). (D)-(I)
(A)-(IV). (B)-(I). (C)-(II), (D)-(III)

[Question ID = 4124][Question Description = Q08_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15959]
2. 2 [Option ID = 15960]
3. 3 [Option ID = 15961]
4. 4 [Option ID = 15962]

Given below are two statements :

Statement I : Enowledge. comprehension and application levels in Bloom's taxonomy

belong to the higher level of cognitive learning.

Statement II : Organization and characterization belong to higher level of affective

outcomes.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement II 1s incorrect.
(4) Statement I is incorrect but Statement II is correct.
= 31 =y few o #
F9 (D) =0 F AN (TFEE) T FE, G9Ey @S9 T a9EeE G F 5=
T E e B
EXENINE ST FT ST HTETe® IO % 3= T d geid 2

I YA % A °, " B e famen @ 9 wee uge 39 1 =99 i

(1)
(2)
(3)

(4)

FoH (1) 377 (II) 31 =&t 2
=9 (1) 3 (10) 2HT TTe9a 7
oM (1) Te 2, S o (I0) 7Tefd 2

= (1) T &, e = (1) 98 8

[Question ID = 4125][Question Description = Q09_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15963]
2. 2 [Option ID = 15964]
3. 3 [Option ID = 15965]
4. 4 [Option ID = 15966]

%) Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Reazon R.
Assertion (4):  Formative assessment iz process linked and directed at raising motivation
and engagement levels in learning.
Reasons (R) : The purpose of formative assessment is to improve quality of learning

outcomes.



In the light of the above statements, Choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 1z NOT the correct explanation of (A).
(3) (A) is correct but (R) 1s not correct.

(4) (A) 1s not correct but (R) 1s correct.

H= 31 o f5n w2 uw Al (Assertion A) % ¥ ® ffaa # @ gE 3wF F001 (Reason R) &
=7 H

HTHR (A) FHTOTER ST U & S SETH H Hesiad B3I IEH O E wE wE F
T3r o FefiE = 2
F (R) : TmToTees 2R T T ety aforEt i e § gan 6= 2|

IR FIE F T °, A= FE T T W ge 30w I A 997 He

(1) Q) R R) 3A "EE 70 (R). (A) Fi w8 =mem 2

() (A) #HR (R) ZAT T B, w6 (R). (A) i =@ s 6 8
(3 (A= 2, d9fF (R) w8 78 2

@ (A= A R, A (R) T R

[Question ID = 4126][Question Description = Q10_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15967]
2. 2 [Option ID = 15968]
3. 3 [Option ID = 15969]
4. 4 [Option ID = 15970]

6) Creating purpose statements. research questions and hypotheses that are narrow and

measurable would mark the characteristic features of which research type?
(1) Narrative research (2) Ethnographic research

(3) Grounded theory research (4) Experimental research

TS WY, WY U SR 9iET US "/ o §9n w erteaiaa § o9 e g wew i
femiwar 27

(1)  fomaomems @i (2) It e
(3) I fagiawE wy (4) TETTIEHE T

[Question ID = 4127][Question Description = Q11_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15971]
2. 2 [Option ID = 15972]
3. 3 [Option ID = 15973]
4. 4 [Option ID = 15974]

7 1In ‘two groups. randomized subjects post test only’ research desizn which of the following

may be the source for jeopardizing validity?

(A) Pretesting procedures

(B)  Measuring instruments

(C) Interaction of selection and the independent variable
(D) Reactive experimental procedures

(E) Statistical regression

Choose the correct answer from the options given below :

(1) {A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

AN fTHY asamd Y el
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(A)

(B)
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Fae (B) 31 (C)
Fad (C) ¥R (D)
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[Question ID = 4128][Question Description = Q12_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15975]
2. 2 [Option ID = 15976]
3. 3 [Option ID = 15977]
4. 4 [Option ID = 15978]

8) Match List I with List II
ListI List II
Research Steps Main features
{A) Defining a research problem (I) Appropriate statistical techniques for
data analysis
(B) Hypothesiz making (II) Representativeneszs of the units chosen
(C) Drawing a research sample (III) Identifving the variables for setting up
a plausible relationship
(D) Hypothesis testing (IV) Carefully chosen terms and concepts
with operational descriptions. if need
be.
Choose the correct answer from the options given below :
1) (A)-(D). (B)-(IT). (C)-(I1I), (D)-(IV)
(2) (A)-(IT), (B)-(I). (C)-(IV), (D)-(I1I)
(3) (A)-(IID), (B)-(IV). (C)-(I), (D)-(1L)
4  A)-av). (B)-a). (O)-1D). (D)D)
FH1-1 % =g F=H-11 71 = Fi
qﬁ-l ﬂj‘:ﬁ—H
(&) =g TEEE F T (I)  ATwe favetT 29 TEfEa AfeTh Tww
(B) OfRew d9W (D) At g i i e &
(C) =g ufagel = (III) I d99 TG e 2 =40 1 TEEe
AT
(D) fier wfiem (IV) SATETFshdl 954 W, F TG0 ated
AEHEEF =7
= fau o fomeat A @ @ I w1 9 Hifaw



(1) (A)-(I). (B)-(II), (C)~(I1), (D)-(IV)
(2) (A)-(II), (B)-(I), (C)-(IV), (D)-(I1I)
(3) (A)-(II), (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-IV). (B)-(I1I), (C)-(II), (D)-(D)

[Question ID = 4129][Question Description = Q13_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15979]
2. 2 [Option ID = 15980]
3. 3 [Option ID = 15981]
4. 4 [Option ID = 15982]

9)  Given below are two statements :
Statement I : Research ethics forms a zenuine concern for research to lend credibility in
findings.
Statement IT : Use of ICT 1in research 1= mandatory as it 1s economical In terms of time

and use of resources.

In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement I 1s incorrect.
(4 Statement I 1s incorrect but Statement II 12 correct.

Hi 21 =ye g e #

w9 (I) : oy wrEn - e § fagaedma o % e me 55 uF awd T auwn G
3

Fe (1) : g § g | A F A SEE @ FEiE a8 9E9 I 5EEAl & A & Aad |3
foeerlt 21

ST FUA ® A 8, 4 5 e § 8 wee 3w 39 R =9 i

(1)
(2)
(3)

4

o (1) =0 (IT) 31 =3 2
Fe (1) 31 (1) 31 Tea 7
o (1) =8 2, s oA (1) 7o 2

Fo (1) To 2, SFF e (ID) =8t 2

[Question ID = 4130][Question Description = Q14_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15983]
2. 2 [Option ID = 15984]
3. 3 [Option ID = 15985]
4. 4 [Option ID = 15986]

10)

Given below are two statements : One 1s labeled as Assertion A and the other 1s labeled as
Reason R.

Assertion (A) :  Format and styles of referencing in thesis writing are enforced with a view
to effect observance of formal protocols.

Reasonz (R) : Formal protocols ensure avoidance of deviations from norms and
procedures of reporting research.



In the light of the above statements, Choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation efi(A).
(2) Both (A) and (R) are correct but (R) 1z NOT the correct explanation of (A).

(3) (A) 12 correct but (R) 1s not correct.

(4) (A) 13 not correct but (R) 1s correct.

fra 71 w9 f3n M0 2 uF AT (Assertion A) % w9 # fofad # @ 750 39F FA0 (Reason R) &
=0

o

-

ATTFE (A) : MY-THY FET § HeUA F UEd AR A FOUEE SA0Erid W w0 Saer
ffr=a F77 = 9a=T 9 & 7 2

FH (R) : A TieTe Aidafed g % gEEsi i gl @ fHerar =i i gy

SUAR AT % AT H, A R T fawedl # # aeE SueE ST o 9Ee i

(L) (&) 3R (R) 3 BE 2 371 (R). (A) i e =z 2

2 (A F®R) I FE E, S [R), (A) FT 7E = TH R
(3) (A= 2, FfF (R) o8 75 2

@ () @E FE R, S (R) FE R

[Question ID = 4131][Question Description = Q15_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15987]
2. 2 [Option ID = 15988]
3. 3 [Option ID = 15989]
4. 4 [Option ID = 15990]

11 : g oo : ;
) The least contributor to nolge 1n communication system by the audience 18
(1) Selective attention (2) Selective perception
(3) Selective retention (4) Selective intention

FEM YOI J A1 G S -we § g6l i g E -

(1) =% =H (2) =EATEF AFEEA
(3)  =EATHF FEUEON (4)  =EATETE T

[Question ID = 4132][Question Description = Q16_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15991]
2. 2 [Option ID = 15992]
3. 3 [Option ID = 15993]
4. 4 [Option ID = 15994]

12) Which of the following are parameters of an effective conumunication?

(&) Freedom to see and hear. What is here?

(B) Freedom to say. What one thinks and feels?

(C) Freedom to decide. What should be. was, are. will be?
(D) Freedom to feel. What one feels?

(E) Freedom of always walting for permission.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A). (B) and (C) only
(3 (B). (C) and (D) only

AN i My amnAd (B Anler



s A R el e s
ffafas 5 & $9 § vF-U% oy TIEe F adE B 7

(&) = T R? - A% T g o

(B) = 7 TiEal A1 TEgH FAA1 57 - % Fed o S
(C) %1 BT AMET, F1 BT, F1 A @ R, FEm - 77 Form o 1 @
(D) TS =41 HEgH FIA1 2 ¢ - A% WEgE F Fi T

(E) =99 31H(d 6 Sa9R H EeaEal

= fzu T fasmedi @ @ wE1 3T 1 =EA Hifw

(1) === (A), (B) #iT (D)
(2)  =ae (A), (B) 3R (C)
(3) = (B). (C) #iT (D)

(4) =& (C), (D) #AF (E)

[Question ID = 4133][Question Description = Q17_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15995]
2. 2 [Option ID = 15996]
3. 3 [Option ID = 15997]
4. 4 [Option ID = 15998]

13)  Given below are two statements : One is labeled as Assertion A and the other is labeled as
Reason R.
Statement I : Communication is the process of transmitting a message from a source to
an audience via a channel.
Statement II : To establish ‘Commonness’ between the source and the audience is

effective for success of communication.

In the light of the above statements. Choose the correct answer from the options given

helow :

(1) Both Statement I and Statement I are true.
(2) Both Statement I and Statement II are falze.
(3) Statement I 1= true but Statement IT 1= falze.

(4) Statement I 1s false but Statement IT 1= true.

= 21 e 2u e 2 : F AfauT (Assertion A) % ®9 § Ttad & A THI 35 %10 (Reason R) %

ECLRE FUETHT SATgw TWEl TR G99 BT R oW @W A e (FEvee) % s
T F
T 11 : A AN ey gam 5719 =9 F o ol i vF w5 qm w oum w1l 2

3WER FUA F AT 4, A B T fawed § 9 5ed 399 39 1 599 i

(1) = 13l I1 2 adt &



(2) F94 I 3R 11 31 Ted &
(3)  Fu LHa B, = e I Teid &
(4) =9 17 ? wifeT e I |8 B

[Question ID = 4134][Question Description = Q18_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15999]
2. 2 [Option ID = 16000]
3. 3 [Option ID = 16001]
4. 4 [Option ID = 16002]

14)  Match List T with List IT

List I List IT

Styles that impede communications Characteristic feature
(A) Placating {I) Doing or saying what is irrelevant.
(B) Blaming (II) Being overcorrect.
(C) Computing (III) Fault finding and acting as superior.
(D) Distracting (IV) Talking in an ingratiating way

Choose the correct answer from the options given below :

1) (A)-D. B)-AD. (C)-(II). (D)-AV)
@ (A)-dD. B)-1). (C)-IV). (D)-(1ID)
(3)  (A)-IID. B)-IV). (C)-(D). (D)-(ID)
4) (A)-(IV). (B)-(I1I). (C)-(II). (D)-(D)

TH1-1 % Ty g=-11 1 faes i
-1 T II
St St e | a2 fergrea
(A)  Tfewm (I) A% T4 T A1 FaT
(B) Ao (D wgar & ufa wafa seamdt =
(C) rmes (IIT) TTefea gaa1 i 230 %1 Sgal HEEH aaqid
AT
(D) =AF-95H (IV) #FEva® &9 ° Hq2 FH & 5@ed § @
FAT

= fau o fameat © @ w1 =R = fifaw

1) (A-O. (B)-AD. (C)-(II), (D)-AV)
(2) (A)-(IT), (B)-(I). (C)-(IV), (D)-(I1I)
(3) (A)-(TIT). (B)-(IV). (C)-(T), (D)-(IT)
(4) (A)-(IV). (B)-(I1I). (C)-(II). (D)-(T)
[Question ID = 4135][Question Description = Q19_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16003]
2. 2 [Option ID = 16004]

3. 3 [Option ID = 16005]
4. 4 [Option ID = 16006]

15)  Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : More effective communication accurs when source and recelver are

homophilous.



Reaszons (R) : Source and receiver use same language and words to stimulate similar

meaning.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
(3) (A) 1= correct but (R) 1= not correct.

(4) (A) is not correct but (R) 1s correct.

I 31 T fau TFH'F';‘ U YT (Assertion A) % =9 & fafiag % Al 7 IHEH FE {Reason R) *

-

=0 F
AgF (A) e HIG T A7 U B 907 TR 2 ol THE guee Hied g B
s (R) : w Td A UF GEE @9 Fa e A4 UF B o Rl W U el @ SguEn

= 7
IUF HUAT ATk °, = e et § 9 wew g Iw o =9 il

(1) (A SR) I T E ST (R). (A) F TE = 2

(2)  (A) 3R (R) ZFT @@ E, S (R), (A) F1 =@ = T4 2
(3) (AT &, wfFF R) w8 7 2

4) (AT FE R, G (R) FE R

[Question ID = 4136][Question Description = Q20_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16007]
2. 2 [Option ID = 16008]
3. 3 [Option ID = 16009]
4. 4 [Option ID = 16010]

16) A milkman has been mixing water with milk to earn 25 per cent profit by selling the mixture

at the cost price. The ratio of water and milk. respectively. 157
(1) 4:5 (2)
3 1:5 (4)

= O

c 4
14

U G-kl 36 WIS 9 g9 S e w2 T 58 Se-Taie g9 #9099 % @ god W SEd |
25 e 1 =9 T A S 3R 59 FOIET & -

(2) i

(1) 4:5
b (4)

14
(3) i

o

[Question ID = 4137][Question Description = Q21_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16011]
2. 2 [Option ID = 16012]
3. 3 [Option ID = 16013]
4. 4 [Option ID = 16014]

17) A 12 percent debt instrument fields 20 percent return. The market price of the underlving

debt Instrument 1s

(1) Rs. 167 (2) Re. 170
(3) Rs. 60 (4) Re. 40



12 Tfaerd o1t U H/O-T9 @ 20 Tiawd F A9 (Fies) TH w6 2| I RO A9T FOAEE o F -

(1) 167 %= :.23 170 = QULLS’\'\W&

(3)  60%m (4) 40%m

[Question ID = 4138][Question Description = Q22_GP_21NOV_S1_SHAAN] ‘Dhoi‘ ( /

1. 1 [Option ID = 16015]
2. 2 [Option ID = 16016]
3. 3 [Option ID = 16017]
4. 4 [Option ID = 16018]

18) 'ihe difference between the simple interest received from two different sources on Rs. 1.500
for three vears 1s Rs. 13.50. The difference between their rates of interest is
(1) 0.1% (2) 0.2%
(3)n0:3% (4)  0.4%

1500 =9 ] I W 2 S-S GEl | q61 F91 % [0 9 @19 w6E w1 A9 13,50 T 2| 39
ATH T H A E -

(1) 0.1% (2) 0.2%
(3) 0.3% (4) 0.4%

[Question ID = 4139][Question Description = Q23_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16019]
2. 2 [Option ID = 16020]
3. 3 [Option ID = 16021]
4. 4 [Option ID = 16022]

19) A watch reads 4.30. If the minute hand points East, in which direction will the hour hand
point?
(1) North (2) North-West
(3) South-East (4) North-East

F 9¥ 4.30 99F fom i 2| 3k e i g2 9@ 5w w6 s # @ E a1 9 Fi g w5 fom w6 s

FAI 1

(1 == (2) FW-Tfv=m
(3) e ) FW-

[Question ID = 4140][Question Description = Q24_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16023]
2. 2 [Option ID = 16024]
3. 3 [Option ID = 16025]
4. 4 [Option ID = 16026]

20) 1p a certain code language, 24685 1s written as 33776. How 1s 35791 written in that code?

(1) 44826 (2) 44882
(3) 46682 (4) 44682

FIwT Fz 9T F 24685 F 33776 Toram = 1 59 g2 ¥ 35791 Fi FFw www fowmy smom

(1) 44826 (2) 44882
(3) 46682 (4) 44682

[Question ID = 4141][Question Description = Q25_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16027]
2. 2 [Option ID = 16028]
3. 3 [Option ID = 16029]
4. 4 [Option ID = 16030]

21) According to Nyava the argument — ‘Sound is eternal because it 1= produced’ commits,



which of the following fallacy?

(1) Viruddha (Contradicting reason)

(2) Nature of the opposable reason ( Satpratipaksa)

(3) Unestablished reason (asiddha)

(4 Nature of unoppozable reaszon (aSatpratipaksa)
=T F FIER, GF - 51 Wvad & i 97 991 Bl 2, 4 fetatas § 9 F5 a@ gy 20
(1 Tawg (2) waufausE
(3 wIfg (4) FEquia9E

[Question ID = 4142][Question Description = Q26_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16031]
2. 2 [Option ID = 16032]
3. 3 [Option ID = 16033]
4. 4 [Option ID = 16034]

22)

With reference to pramana theory both on dialogical and philosophical discourse. which of

the following options are correct?

(A)

(B)
(<)

(D)

It furnishes the required grounding for the thesis to be backed up by a certaln means
of knowledge.

It provides the necessary platform to incisely analyse the proposed thesis.

It enables us to succinitly summarise the observations. that stem out of analysis, in

the form of anumana or nyava prayoga.

It enables the debater to elicit acceptance of his/her own belief system on the basis of

formal validity alone.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

{A) and (B) only
(A) and (C) only
(A), (B) and (C) only
(A). (B) and (D) only

st it it 2R i & wifm s forgha % s § Frrfefign § @ F-8 fren w37

(A)
(B)
(C)

(D)

77 arfaamon &g swfig snaw ugm w5t & e ®fawm 59 % aee g sfagle e 2)

7 AT AR 5 Tes © HAveen w2 AEvas 99 U A 2|

A oo B W S 1 SATEE YA = U B R S 8 mnd s 2

Tz FEEFHAT H e SANTANE JGA F FGR W AT F9F I G9GE Toe H = iHd w1 9

aaY w9 2

= fau o famedl # ® wE1 ST o =EA Hifaw

(1)
(2)
(3)

(4)

e (A) 31 (B)
e (A) #1 (C)
F9e (A), (B) 377 (C)

Fae (A). (B) #77% (D)

[Question ID = 4143][Question Description = Q27_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16035]



2. 2 [Option ID = 16036]
3. 3 [Option ID = 16037]
4. 4 [Option ID = 16038]

23 :
) Given below are two statements :

Statement I : The works in Nyava-Sastra discuss the aggregate causal conditions and

the process involved in inferential cognition.

Statement IT : The works in Nyaya -Sastra do not however dwell upon analysis of the

factors that help to assess and decide the formal validity of a judgement.

In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement IT is incorrect.
(4) Statement I 1s incorrect but Statement IT is correct.

= = T fem m #

F97 (I) ~HUTE 09wt wEonl Tt aw saEes 3 8 e ufwe $io==t
FoT (1) : =Am-IE * 7Y a3 e & favenn w95 #ma £ A fom i eteios

e 1 TR A 371 O e e R

I HYE % A °, G T e 8 @ wem Iw 9 w6 9 il

(1) =% (I) 3 (II) 31 =&t &
(2) = (1) FR (D) 391 7o 7
(8) W (1) =A 2, AR F (1) T B
(4) = (1) T 7, A weE (1) 98 B

[Question ID = 4144][Question Description = Q28_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 16039]
2 [Option ID = 16040]
3 [Option ID = 16041]
4 [Option ID = 16042]

AW N -

24) “Famous Singer Himanshu says that Coffeehill chocolates are groovy. We can only conclude

that Coffeehill chocolates are groovy indeed”.
Which of the fallacy 1s commited in the above statement?

(1) Hasty Generalisation (2) Appeal to unqualified authority
(3) Slippery slope (4) Miszing the point

= T bl W

- e o . i - % ., r -

uiig T feATy Fad & R Fwee diheie dald aid & 59 UHAH 98 Hepd e a9 ® G Fibiea
Y s i s S
Tz A § T 7 B

SUgE F9F ° AefaiEs § 8 wH-T1 a6 afed gam 27

(1)  woaimms 3 G (2) T-Taemy wifamwd (==fE) = afq smrE

(3) T = (4) TWEE = T



[Question ID = 4145][Question Description = Q29_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16043]
2. 2 [Option ID = 16044]
3. 3 [Option ID = 16045]
4. 4 [Option ID = 16046]

25) The set of attributes shared by all and only those objects to which a general term refers. iz
called :

(A) The intension of that term
(B) Connotation of that term
() The extension of that term
(D)  Denotation of that term

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A) and (C) only
(4) (A) and (D) only

U S Hg=E S A a3 g4l sega A vt B W vE @m 12 g sFE e s 2,
FEAE & -

(A) 3@ 9E = Afug

(B) 39 UE =i WAl

(C) 38T = foan

(D)  3d 9 =i aEauw

= T2 o el ® ® gE 3 o 98 i

(1) == (A) =R (B)
(2) e (C) #R (D)
(3) AT (A) F (C)
(4)  =hae (A) #R (D)

[Question ID = 4146][Question Description = Q30_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16047]
2. 2 [Option ID = 16048]
3. 3 [Option ID = 16049]
4. 4 [Option ID = 16050]

26) With regard to computer memory. which of the following statements are TRUE?

(A) Secondary storage is slower, cheaper. and less volatile than primary storage.
(B) Tape drives are direct access devices.
(C) The contents of most forms of RAM are volatile, thus making them unsuitable for long

term data storage.
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(4) (A). (B) and (C)

FIA AT % HEY # et § 0 -0 Y g 7

(A)  Tehvsh s wigRdt w2 i gern | dfmn, wen aun w5y S g 2|



(B) 27 31599 Hieft wE e v v (famew) 2
(C) W (RAM) = Haius T F e AR (Ieena) 71 £ 30 THR § 3% JaEE 371 =R F
foIu. 9T I 2|

i o U kel | ® @8 39 1 = it

(1) =&« (A) =i (B)
(2)  FFA (B) #1 ()
(3) = (A) 3 (C)

(4)  (A). (B) 3 ()

[Question ID = 4147][Question Description = Q31_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16051]
2. 2 [Option ID = 16052]
3. 3 [Option ID = 16053]
4. 4 [Option ID = 16054]

27) With respect to computers. what 1s the main advantage of a Graphical User Interface (GUI)
compared with a Command Line Interface (CLI)?

(1) Provides higher level of security and requires less memory
(2) Easier to use for non-experts

(3) Performs complex tasks faster and requires less memory
(4) Requires less processing power

FO & W H, FAS @A s (F vt ong) fi gon d wieee 3o seeEe (Sf g eR) @1 g
Y F R

(1) 3= & =il e gean w01 7 317 38 F5 99 F =9 Tt 2
(2)  T-famiemt = Wi g wEE 2
(3)  izer Al 1 9= G ° FaET & 3T 36 B9 guil F wE w8

[Question ID = 4148][Question Description = Q32_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16055]
2. 2 [Option ID = 16056]
3. 3 [Option ID = 16057]
4. 4 [Option ID = 16058]

28 3 : i
) Identify the correct order of the following computer storage capacities ranked from smallest

to largest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes
(C) 1 TBytes

(D) 100 000 MBytes

(E) 1 000 000 KBytes

Choose the correct answer from the options given below :

(1) (D). (B). (E). (A). (C)
(2) (E). (B). (D). (A). (C)
(3 (B). (E). (D). (A). (C)
(4) (E). (B). (D), (C). (A)

fferfigd Feget w2ia Audi#] 1 a9H F9 § SE AT FE 5 HEl H9 A TEaE it

(A) 100 T =Sz
(B) 10 000 000 000 =z



(C)

(D)

(E)

1 20 w2
100 000 H7T =E2
1 000 000 T =rEz

Hi fau v fashedi § ® @ 3 w1 =94 it

(1)
(2)
(3)
(4)

(D). (B). (E). (A). (C)
(E). (B). (D). (&), (C)
(B). (E). (D). (A), (C)
(E). (B). (D). (C). (A)

[Question ID = 4149][Question Description = Q33_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16059]
2. 2 [Option ID = 16060]
3. 3 [Option ID = 16061]
4. 4 [Option ID = 16062]

29) Given below are two statements :

Statement I : A web browser 1s a piece of software that retrieves and displavs web pages.

Statement II: A search engine 13 a special kind of website that helps people in finding

web pages from other web-sites,

In the light of the above statements, Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 13 true but Statement II 1s false.
(4) Statement I 1= false but Statement I1 is true.

= g1 e fagr o ¥

Fo (I) a9 WIS U WS £ | 9E USl Hi e G Hdl § AN IgRHid Fa 2|
o (II) : T IO U (999 WRE i ASEsE & S AN R 39 oW HiSe) O oW U WiH R |

I I F AT H, A= 2 T EEew 8 | "8 39w =99 fi

(L
@)
(3)

(4)

= (1) 3 (1) 21 aed &
A () 31 (1) 31 A& &
= (1) 9ea 2, witea = (1) 90 &

F5 (1) 807 2, ST F99 (1) =e7 2

[Question ID = 4150][Question Description = Q34_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16063]
2. 2 [Option ID = 16064]
3. 3 [Option ID = 16065]
4. 4 [Option ID = 16066]

30) Match List T with List IT

TistI List IT

(Computer Components) (Description)



(A) HDD (). Visual Display Unit

(B) RAM (I) Volatile Memory
(C)y ROM (III) External Memory
(Dy CRT (IV) Non-Writable Memory

Choose the correct answer from the options given below :

1) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
2) (A)-(IID). (B)-(II). (C)-(D). (D)-(IV)
(3) (A)-(IV). (B)-(I1D). (C)-(II). (D)-(I)
4 (A)-dID. (B)-D). (C)-IV). (D)-(I)

F-1 % w9 g=-11 =1 faem Fif
- i1
(A) HDD @ g fom g
(B) RAM (IT)  =¥foem T
(C) ROM (I1T) =T weAT
(D) CRT (IV) FTA-Trseet 2afit

i fou v el ® © wE I F1 999 SitAu

(1) (A)-AD, B)-AID. (C)-aAV). (D)-d)
(2) (A)-(11ID). (B)-(II), (C)-(I). (D)-(IV)
(3)  (A)-(V), (B)-(III), (C)-(ID), (D)-(T)
4)  (A)-dI). (B)-dD. (C)-aV). (D)@

[Question ID = 4151][Question Description = Q35_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16067]
2. 2 [Option ID = 16068]
3. 3 [Option ID = 16069]
4. 4 [Option ID = 16070]

3 How many missions are there under the Climate Action Plan of Govt. of India?
(1) 4 (2 8
(3) 12 4 17

YT WIHE i HAarg 1 AT F 1 T fHeE 27

(1) 4 2y 8
(3) 12 4 17

[Question ID = 4152][Question Description = Q36_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16071]
2. 2 [Option ID = 16072]
3. 3 [Option ID = 16073]
4. 4 [Option ID = 16074]

32)  According to India Meterological Department, average sustained wind speed over 3 minutes

of a eyclonic storm. 1s in the range



(1) 40 — 50 km/hr

(2) 50 — 60 km/hr

(3 63-88km/hr

(4)

200 — 225 km/hr

(1)

(2)

(3)

(4

40 — 50 .. /4.
50 — 60 T 1. /4.
63 — 88 .51 /3.

200 — 225 fir . /4.

[Question ID = 4153][Question Description = Q37_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16075]
2. 2 [Option ID = 16076]
3. 3 [Option ID = 16077]
4. 4 [Option ID = 16078]

33) Given below are two statements :

Statement I : Wind farms are generally set up on exposed hilltops or coasts in remote
areas.
Statement IT : Wind velocities are steady in these remote locations.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1
(2)
(3)

4)

Both Statement I and Statement II are correct.
Both Statement I and Statement II are incorrect.
Statement I is correct but Statement II is incorrect.

Statement I 1s incorrect but Statement II 1s correct.

I 21 wya few o E

o (1) : T B U G &l W UEfsdl % ge N fEml awen oMz A W Tt R
T |
9 (1) : = gt M1 W 99T T ad wdl 2|
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(1
(2)
(3)

(4)

T (1) =1 (1) 31 =t 2
=9 (T) 31 (I1) 31 e 7
Fom (I) 781 &, A g7 (1) 7= 2

T3 (1) Td 2, wAioa wua (1) T8 2



[Question ID = 4154][Question Description = Q38_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16079]
2. 2 [Option ID = 16080]
3. 3 [Option ID = 16081]
4. 4 [Option ID = 16082]

34) Given below are two statements : One 1s labelled as Assertion A and the other is Iabeled as

Reaszon R.

Assertion (A):  Production of electricity from Renewable Energy sources 1s without
adversze environmental impacts.

Reaszon (R) : There 1= no net emission of carbon di-oxide into atmosphere from

exploitation of Renewable sources of energy.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 12 the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(3) (A) 13 true but (R) 1s false.

4) (A) 18 false but (R) 1s true.

4= 21 e f2u e 2 ;v JiHEUT (Assertion A) ¥ 9 H Tiad 2 1 B 35F FEW (Reason R) &
®UH

AR (A) : Tl S At @ faad IeaET = 1 S5 Wi W afags T9E 6 g 2
F (R) : AR FAl | F giE | FgHSe § e SEAEEES 1 EE g (A7) e

S YA % AT °, A= By e fasmeqt # 0 ged 3ugeE g9 @ 99 i

(1) (A) 3 (R) ZAT &ex & =0 (R), (A) i a2 =9 2

(2)  (A) W R (R) ZA 7 7, A (R). (A) F1 7E = 74

(3) (A Te 2, @A (R) o9 2

(4) (A) ¥8cT &, wif (R) o091 &
[Question ID = 4155][Question Description = Q39_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16083]
2. 2 [Option ID = 16084]

3. 3 [Option ID = 16085]
4. 4 [Option ID = 16086]

35) “Wheezing' is the most relevant Health Effect in case of the air pollutant

(1) Ozone (2)  Carbon monoxide

(3) Nitrogen dioxide (4) Sulphur dioxide

form amg weu & AAe | CEifS w@Eitas F @R et aee 2 -

.

(1)  srae (2) FET HAIHATFEAES
(3)  ATEEIA SIEHATEES (4) WL STEATFEES

[Question ID = 4156][Question Description = Q40_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16087]
2. 2 [Option ID = 16088]
3. 3 [Option ID = 16089]
4. 4 [Option ID = 16090]

36) Which of the following are essential for good governance of colleges and universities?

(A) Academic autonomy

(B) Legal autonomy

F™y ?| SR L BN TR S e D
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(D)  Administrative autonomy

Choose the correct answer from the options given below :

(1) (A). (C), (D) only
(2) (A). (B), (C) only
(3) (B). (C), (D) only
(4) (B). (C) only

nEiferaTeEt it fvafammeEt % 3o wee 2 fefafe 9 9 w=h-3 smEys 27
(:)'i) TG I[Sh AT

(B)  durfaw w=rE

(C)  Tofta T

(D) T S

et fou v famedi @ © W 39 1 9T itaw

(1) 3= (A). (C). (D)

(2) =4 (A). (B). (C)

(3) == (B). (C). (D)

(4) === (B). (C)
[Question ID = 4157][Question Description = Q41_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16091]
2. 2 [Option ID = 16092]

3. 3 [Option ID = 16093]
4. 4 [Option ID = 16094]

37)  On which of the following date National Education Day iz celebrated each year?
(1) 28 Feb (2) b June
(3) 11 Nov (4) 1 Dec

Tt e feam wew = fefefaa 1 @ e 5y = 3 s e

(1) 28 %= (2) s

(3) 11 Jae=w (4) 1 fomrw
[Question ID = 4158][Question Description = Q42_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16095]
2. 2 [Option ID = 16096]

3. 3 [Option ID = 16097]
4. 4 [Option ID = 16098]

38) Match List I with List IT. Match the features of education of various types.

Lizt I List IT

(A) Ancient Vedic Education (I'  Equality was the foundation of
student-teacher relationship

{(B) Post Vedic Education (I Enrichment of Lknowledge and
experience

(C) Brahmanic Education (III) Knowledge results in wiping out
falsehood

(D) Buddist system of Education (IV) Emphasis on character building and

self realization

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IV). (C)-(III). (D)-(ID)
(24] ATV (By-(Dy. (Chi-(I0. (=TI



(3) (A)-AID. (B)-AD). (C)-(D), (D)-AV)
4) (A)-(IT). (B)-(III). (C)-(IV). (D)-(I)

-1 % =y =11 = foee Fifm) ffim wwn f foan i 5= fasmaret = e Fifm)

I gi-11
(A) T Afgw e (I)  F9FaT - wag 1 wan o
(B) = dfgw e (II) 79 3R 793 F TG T
(C) wmafurs foram (IIT) =medfesh 3 fawarea 1 Faw 2
(D) =it forer womreft (IV) =fm fmm w@n snem-fafz = == f@n
iy

i Tou o famel ® © wE 39 #1999 St

(1) (A)-(I), (B)-(IV), (C)-(I11), (D)-(IT)

(2) (A)-(IV). (B)-(I). (C)-(II), (D)-(I1I)

(3) (A)-(I1I1). (B)-(II). (C)-(I). (D)-(IV)

@  (A-aI). (B)-I). (C)-aAV). (D)-@)
[Question ID = 4159][Question Description = Q43_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16099]
2. 2 [Option ID = 16100]

3. 3 [Option ID = 16101]
4. 4 [Option ID = 16102]

39) “Destiny of India is being shaped in her classrooms”. this 1s stated in

(1) University Education Commission (1948)
2) Education Commission (1964)
(3) National Education Policy (1936)

(4) National Knowledge Commission (2005)

R 1 HRT SEh HAnA 1§ FiEa w W R 9% e eAtetgy 7§ e we e ant

(1)  favafaemes foem smm (1948)

(2)  forem s (1964)
(3) g e g (1986)

(4) A = wE (2005)

[Question ID = 4160][Question Description = Q44_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16103]
2. 2 [Option ID = 16104]
3. 3 [Option ID = 16105]
4. 4 [Option ID = 16106]

40) The new curricular and pedagogical structure of School Education as proposed by

NEP-2020 12

(1) 5+3+2+2 (2P EaraTa

iy 2 «+ F 1 O 1 A A% O 1B O 0D
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(1) 5+3+2+2 G heea s g3
(3) 245+ 3+4 4 2+5+3+2

[Question ID = 4161][Question Description = Q45_GP_21NOV_S1_SHAAN]
1 [Option ID = 16107]
2 [Option ID = 16108]
3 [Option ID = 16109]
4 [Option ID = 16110]

A wN -

Topic:- GP_Set3_C

1) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved ohservation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizhed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of

school several tvpes of information on each of the teachers including room-arrangement,
classroom rules, consequences of mishehavior, response to inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year, The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school yvear.
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An effective teacher manager as per classroom management tradition

(1)
(2)
(3)
(4)

Advocates adherence to rules
Focusses on changing or modifying inappropriate behavior
Incorporates interventions that stress communication skills

Incorporates classroom rules. conseguences and routines to keep student actively
engaged

Fe1 THEH WORT % SATEE, T4 e e

(1)  Feml wowd w1 e g

(2) A SHEEN 1 Sge AYET 30 Heiad w0 g 9d1 8

(3) A TEAATT A A B A HET FOE T AT A E
(4)  faefd=n =1 afFa =9 @ Fen tga-ea § gRarl aAE 2g Fen fEd, aforahett =256 w5 e
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[Question ID = 4167][Question Description = Q46_GP_21NOV_S1_SHAAN]

B w N -

1
2
3
4

[Option ID = 16131]
[Option ID = 16132]
[Option ID = 16133]
[Option ID = 16134]

2) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to mishehavior after it occurs,
not before. More recent research. however, has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
nexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizshed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of
school several types of information on each of the teachers including room-arrangement,

. . . . .
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consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school year.
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afefeEm & =) T\ @iy F SR Fen TEYE § AEEaEE SR TEiiTE =eEEn fvean sanE § /9
F1 syauron W AR @I w3 2R weEn wahtE w9 4, ®wan wEed i FarE uorel 26 % ew e

WiAtFaEE wonteEr 1 78 R 3 wonfert geEER # ge ufed 7H % URel TR Sfo I9F A1 gEEE
TEAT T T TAW FAA 3| FIEE, e 7 8 50 I # e Wead o o7 Uh 9 ST gEar we
T 2 A wew SRl S SHAEA 1 9 Afdha ® ®9 ° T8 @few s o w9 8 AR W 2 9
I w1 @GS T oA W oA 2 geeaEn W UwA sg waE s oafiem e R ek
S ETFA =Y N9 4% P A AR B TH WE % HA S § S A S s -
AT 3T TR % foerRl 1 sEerRa A e e e e e e e o e e

g o1 fF sifies warE e TEuw S THE wa TEYE & dr" 43 59 YR 9T fRa | @ 2 B

q ZEHAER Wi WA % 99 AR 094 6 @0 0 399 FE 21 UR S ° 27 T
foveai 1 UF T F ATAFA-AFTT 7 Gl AT T TUYW dH TEE IR TAF OEF F IR S
TR FEAHEA S i TS T BTG-S, FAT (999, ToAaER % N, FE AERn & 9
ufatem, fes! = segen A wagan, Free, o geeRr goeh onfie off) ek s, 1S T % stEE
W F B FEAE 3 Fen | Frafawa, frmdda £ g i qomn it fmw 9w 0@ s o @5 fF e
& % fornfiai 3 foers % sroare ® w s faan) a9 % 9 ey W AN R IS FH 3 3 diEs
F smm e = 3 oo o At fen wm afrs el wes o o et wEe) T o T
Wﬁ,ﬁ?ﬁmﬁﬁuﬁmmmwﬁwﬁiwﬁTiU||<;_snP‘ﬁﬂ121T44f-¥:\| Fea H bl arfies fameff
FHTA T TC SR wrd w9 wen § w6 faa o gm o) smeres sfew aweE weasl 3 wEe-ad
TN 3 OUTED B AT T S s F =0 o T e

A teacher who emphasises the immediate reinforcement of positive behavior and punishment

together i3 said to follow

(1) Classroom management tradition (2) Collaborative learning

3 Applied Rezearch Tradition (4)  Humanist tradition

e S TREICH SEER 3R 55 g 1 UF @Y WY P e W S <a1 8, TE S 2 R aw e
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[Question ID = 4168][Question Description = Q47_GP_21NOV_S1_SHAAN]

AW N -

1 [Option ID = 16135]
2 [Option ID = 16136]
3 [Option ID = 16137]
4 [Option ID = 16138]

3) Read the passage carefully and answer the questions that follow

Throuizh cut much of the latter half of 20tk Cantury clazsvroom dizcinline was focuizzed on the



e Sl G et e e A e 3 it s e e o o e sl e G S e e 5 N e o Wi e R ol P i S R el i i e A ey el s

issue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved ohservation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizshed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long obhservation study. During the first 3 weeks of

school several tvpes of information on each of the teachers including room-arrangement,
classroom rules. consequences of mishbehavior. response to inappropriate behaviour,
consistency of teacher responses, monitoring, and reward svstems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school year.
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According to classroom management theory on effective teacher



(1)
(2)
(3)

(4)

Addresses 1ssues 1n the classroom
Prevents the problem before occuring
Discusses the problem after it haz occured

Tries to respond to the problem after its occurence

FeT WA THgia & FFAN, T THE fas

(1)  =en 4 5581 =1 e = 2

(2)  wuEn uEd B9 8 Usd 30 Ushdl &

(3)  THEA % uied 51 9 % 9gEE 39 U =] T 2

(4)  TEEn % ata w5 TH % 9vE 969 fHEE oA e 2

[Question ID = 4169][Question Description = Q48_GP_21NOV_S1_SHAAN]

1

3
4

AW N =

4)

[Option ID = 16139]

2 [Option ID = 16140]

[Option ID = 16141]
[Option ID = 16142]

Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality durng
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to mishehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved ohservation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several tvpes of information on each of the teachers including room-arrangement,
classroom rules. consequences of misbehavior. response to lnappropriate behaviour,
consistency of teacher responses, monitoring. and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school year.
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A teacher 1s effective manager if s’he

(1)
(2)
(3)
4)

Tries to respond to misconduct
Tries to find the reason for misconduct
Punishes the student(s) for misconduct

Prevents the misconduct

12 o WA usgE a4l 26 & 9l ¥

(1)  3oH9ER = Ui Ffaiw F1 T F0 8

(2)  THFER T FHAO A1 T H R b e

(3)  goaEn = fomm famneft (fenfimn) = 2fsa =+ 2
(4)  goEER H w2

[Question ID = 4170][Question Description = Q49_GP_21NOV_S1_SHAAN]

1.1
2.2
3.3

[Option ID = 16143]
[Option ID = 16144]
[Option ID = 16145]

4. 4 [Option ID = 16146]

5)

Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20® Century, classroom discipline was focussed on the
issue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of

reaction but prevention. This approach is based on classroom research that examined what



effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
nexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizshed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules. consequences of misbehavior. response to inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were catezorized as maore effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school year.
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A teacher who focuses on feelings, psychological needs and emotions of the individual

learners 1= said to be following which tradition?

10 Humanist Tradition (2) Appled Research Tradition

(3) Classroom Management Tradition (4)  Formal Discipline Tradition
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